Ml

Nothing but HEAVY DUTY.

POWER TOOL
ACCESSORY
GUIDE




TABLE OF CONTENTS

METAL SAWZALL® BLADES 3
WOOD SAWZALL® BLADES & HACKZALL® BLADES & BLADE KITS 4
SPECIALTY SAWZALL® BLADES 5
HOLE SAWS & HOLE SAW KITS 6
SPECIALTY HOLE SAWS 7
THIN WALL HOLE SAWS & CARBIDE TOOTH CUTTERS 9
STEEL HAWG® CUTTERS 10
ANNULAR CUTTERS 11
MASONRY DRILLING 12

3-FLAT SHANK 12

SDS PLUS 4-CUTTER & STOP BITS 13

SDS PLUS 2-CUTTER 14

SDS MAX & SPLINE 15
ROTARY HAMMER 1-PC CORE BITS 16
ROTARY HAMMER 2-PC CORE BITS 17
ROTARY HAMMER CHUCKS & ADAPTERS 18
DEMOLITION HAMMER STEEL 19
BAND SAW BLADES & CIRCULAR SAW BLADES 20
WIRE BRUSHES & WHEELS 21
ABRASIVES 22
STEP BITS & COBALT TWIST DRILL BITS 23
TITANIUM TWIST DRILL BITS 24
BLACK OXIDE DRILL BITS & S&D BLACK OXIDE DRILL BITS 25
AUGER BITS 26
SELFEED & FLAT BORING BITS 27
BIT TIP HOLDERS & INSERT BITS & DRILL/DRIVER BIT KITS 28
DRIVER BITS 29
NUT DRIVERS & SOCKETS 30
PRESS JAWS & KNOCK OUT PUNCHES & DIES 31
CRIMPER & CUTTER JAWS & CRIMPER DIES 32



ket
% THE BEST JUSTGOT BETTER

-

AWZALL® RECIPROCATING SAW BLADES

THE TORCH™ TOUGH STRAIGHT CUTS

25 Bulk

28 | v o —
B 1=

Sawzas.’ 1§

TORCH.
TOUGH STRAIGHT CUTS

100 Bulk

THIN KERF
FAST FLEXIBLE CUTS™

THIN KERF FAST FLEXIBLE CUTS

10 Bulk 25 Pack

25 Bulk

LONGEST _  rRONGEST

[
d‘m

LEARN MORE

50 Packs

100 Bulk

10
10
10
14
14
14
18
18
18
24
24
24

™

10
10
10
14
14
14
18
18
18
24
24
24

6"
9"
12"
6"
9"
12"
6"

12"
6"
9"

12"

6"
9"
12"

9"
12"

10 Bulk 25 Pack
48-00-5712 - 48-00-8712
48-00-5713 | 48-01-2703 @ 48-00-8713
48-00-5714 - -
48-00-5782 | 48-01-2762 48-00-8782
48-00-5787 | 48-01-2767 = 48-00-8787
48-00-5794 - -
48-00-5784 | 48-01-2764 48-00-8784
48-00-5788 | 48-01-2768 @ 48-00-8788
48-00-5789 | 48-01-2769 = 48-00-8789
48-00-5786 - -
48-00-5790 - -
48-00-5791 - -
o=
hardened
ICE HARDENED THE TORCH™
50 Packs 100 Bulk

48-00-4712 48-01-8712 -
48-00-4713  48-01-8713 -
48-00-4782 48-01-8782 | 48-01-9782
48-00-4787 48-01-8787 | 48-01-9787
48-00-4784 48-01-8784 | 48-01-9784
48-00-4788 48-01-8788 | 48-01-9788

48-01-2712
48-01-2713
48-01-2714
48-01-2782
48-01-2787
48-01-2794
48-01-2784
48-01-2788
48-01-2789

48-01-7712
48-01-7713
48-01-7782
48-01-7787
48-01-7784
48-01-7788
48-01-7789

48-00-5092

48-00-5182
48-00-5187
48-00-5184
48-00-5188
48-00-5189
48-00-5186

ICE HARDENED THIN KERF

5 Pack

48-00-4182
48-00-4187
48-00-4184
48-00-4188
48-00-4189
48-00-4186

50 Packs

48-01-8182
48-01-8187
48-01-8184
48-01-8188

48-01-8186

100 Bulk
48-01-9712
48-01-9713
48-01-9182
48-01-9187
48-01-9184
48-01-9188

48-01-9186

48-01-2162 = 48-00-8182
48-01-2167 -
48-01-2164 = 48-00-8184
48-01-2168 -
48-01-2169 -

- 48-00-8186

48-01-2182
48-01-2187
48-01-2184
48-01-2188

48-01-2186

48-01-6092

48-01-6182
48-01-6187
48-01-6184
48-01-6188
48-01-6189
48-01-6186

48-01-7092

48-01-7182
48-01-7187
48-01-7184
48-01-7188
48-01-7189
48-01-7186




WOOD SAWZALL® RECIPROCATING SAW BLADES

THE BEST

WOOD CUTTING SAWZALL' BLADES.

PERIOD.

FANq TIP*

FASTER PLUNGING

" \’\rﬂ”s NAILS Ila! Tfﬂ)l
2X FASTER

—~ G L

THE AX™ TOUGH STRAIGHT CUTS

THIN KERF FAST FLEXIBLE CUTS

10 Bulk 25 Pack 25 Bulk 100 Bulk 10 Bulk 25 Bulk 50 Packs 100 Bulk
5 6" 48-00-5021 48-01-2001 = 48-00-8021 48-01-2021 48-01-7021 48-00-5035 48-01-2015 48-01-2035 48-01-6035 | 48-01-7035
5 9" 48-00-5026 48-01-2006 = 48-00-8026 48-01-2026 48-01-7026 48-00-5036 48-01-2016 48-01-2036 48-01-6036 | 48-01-7036
5 12" 48-00-5027 48-01-2007  48-00-8027 48-01-2027 48-01-7027 48-00-5037 48-01-2017 48-01-2037 48-01-6037 | 48-01-7037

|

D TWORK BLADE DRYWALL bESS BLADE f
#‘i%%é’;".'g“‘“"," ioEAL ron sErvigio ROUGH IN FLUSH CUT
Wﬂ BLADE || BLADE
] : ; !‘
li ‘
\Q‘ - 35 X
+48-00-1630 = 48-00-1640 48-00-1610 48-00-1600
HACKZALL® BLADES
) i
PRODUCT PRODUCT PRODUCT
NUMBER DESCRIPTION QUANTITY NUMBER DESCRIPTION | QUANTITY NUMBER DESCRIPTION QUANTITY
49-00-5310 3-1/2" WOOD SCROLL 49-00-5414 | 4" PVC SHORT 49-00-5461 4" PLASTER & DRYWALL
49-00-5324 3-1/2" METAL SCROLL 5 49-00-5418 4" EMT 5 49-00-5614 6" PVC LONG 5
49-00-5400 4" FIBERGLASS 3 49-00-5424 4" pUCT 5 49-22-0220 HACKZALL BLADE SET 1
49-00-5410 4" MULTI-MATERIAL 5 49-00-5460 4" WOOD 5

BLADE KITS

PRODUCT PRODUCT PRODUCT
NUMBER DESCRIPTION QUANTITY NUMBER DESCRIPTION QUANTITY NUMBER DESCRIPTION | QUANTITY

49-22-0240 | THIN KERF 8PC 49-22-1131 49-22-1145 | THIN KERF 9PC

ICE HARDENED THIN KERF & DEMO 14PC ‘

49-22-1129 DEMO 12PC 1 49-22-1132

THIN KERF & DEMO 32PC ‘ 1 ‘ ‘ ‘



48-00-1304 PRUNING 5T9LG 1 PK 1 ot STTORR TR eswot rosvot vosses B
48-00-1301 PRUNING 5T9LG 5 PK 5 m
48-00-1305 PRUNING 5T 121G 1 PK 1 m
48-00-1303 PRUNING 5T 12LG 5PK 5 m
48-00-1421|  6LG TUNGSTEN CBD GRIT 1PK 1 ”.

48-00-1420|  6LG TUNGSTEN CBD GRIT 3PK 3 ”_

48-00-1431|  9LG TUNGSTEN CBD GRIT 1PK 1 ‘
48-00-1430|  9LG TUNGSTEN CBD GRIT 3PK 3 ‘
48-00-1440 6" DIAMOND GRIT 1PK 1

48-00-1450 9" DIAMOND GRIT 1PK 1

48-00-1600 FLUSH CUT 1PK 1

48-00-1610 ROUGH-IN 5PK 5

48-00-1630 DUCTWORK 5PK 5 P

48-00-1640 DRYWALL ACCESS 1PK 1 =

48-00-5015 6T 6LG CLEAN WOOD 5PK 5 wz, (i el

48-00-5016 6T 9LG CLEAN WOOD 5PK 5 mz |l oL
48-00-5017 6T 12LG CLEAN WOOD 5PK 5 = o
48-00-5041| 4/6T6LG WOOD SCROLLING 5PK 5

48-00-5052 6T5LG PLASTER5PK 5

48-00-5161| 10T 3-5/8LG METAL SCROLLING 5PK 5

48-00-5162 | 14T3-5/8LG METAL SCROLLING 5PK 5

48-00-5163 | 18T 3-5/8LG METAL SCROLLING 5PK 5

48-01-6420|  6LG TUNGSTEN CBD GRIT50PK 50

48-01-6430| 9LG TUNGSTEN CBD GRIT 50PK 50

48-01-7015| 6T6LG CLEAN WOOD - BULK (100) B

48-01-7016| 6T9LG CLEAN WOOD - BULK (100) B




HOLE DOZER™ HOLE SAWS

DPUG HOLE SAW. PERIOD
RIP GUARD" A JA L M
, Miwaze
%
““—

5/8" 49-56-9603 1 1-11/16" 49-56-9620 1 3-1/8" 49-56-9638 1
11/16" 49-56-9604 1 1-3/4" 49-56-9621 1 3-1/4" 49-56-9639 1

3/4" 49-56-9605 1 1-3/16" 49-56-9622 1 3-3/8" 49-56-9640 1
3/16" 49-56-9606 1 1-7/8" 49-56-9623 1 3-1/2" 49-56-9641 1

7/8" 49-56-9607 1 2" 49-56-9624 1 3-5/8" 49-56-9642 1
15/16" 49-56-9608 1 2-1/16" 49-56-9625 1 3-3/4" 49-56-9643 1

1" 49-56-9609 1 2-1/8" 49-56-9626 1 3-7/8" 49-56-9644 1
1-1/16" 49-56-9610 1 2-1/4" 49-56-9628 1 4" 49-56-9645 1
1-1/8" 49-56-9611 1 2-5/16" 49-56-9629 1 4-1/8" 49-56-9646 1
1-3/16" 49-56-9612 1 2-3/8" 49-56-9630 1 4-1/4" 49-56-9647 1
1-1/4" 49-56-9613 1 2-1/2" 49-56-9631 1 4-3/8" 49-56-9648 1
1-5/16" 49-56-9614 1 2.9/16" 49-56-9632 1 a1/2" 49-56-9649 1
1-3/8" 49-56-9615 1 2-5/8" 49-56-9633 1 4-3/4" 49-56-9650 1
1-7/16" 49-56-9616 1 2-3/4" 49-56-9635 1 5" 49-56-9652 1
1-1/2" 49-56-9617 1 2-7/8" 49-56-9636 1 5-1/2" 49-56-9654 1
1-9/16" 49-56-9618 1 3" 49-56-9637 1 6" 49-56-9656 1
1-5/8" 49-56-9619 1
I S N T
3/4" 49-56-5090 1-1/2" 49-56-5150 2-5/8" 49-56-5175
7/8" 49-56-5100 25 1-5/8" 49-56-5152 25 3" 49-56-5180 16
1" 49-56-5110 25 1-3/4" 49-56-5155 25 3-1/2" 49-56-5190 9

1-1/8" 49-56-5120 25 2" 49-56-5160 25 3-5/8" 49-56-5195 9
1-3/16" 49-56-5125 25 2-1/8" 49-56-5165 25 4" 49-56-5200 9
1-1/4" 49-56-5130 25 2-1/4" 49-56-5167 25 4-1/8" 49-56-5205 9
1-3/8" 49-56-5140 25 2-1/2" 49-56-5170 25

Product Product Product
“ Quantlty “ Quantlty “ Quantlty

GENERALKIT 8PC 49-22-4005 ELECTRICIANS KIT 10PC 49-22-4095 MASTER PLUM.KIT 18PC 49-22-4155
GENERALKIT 13PC 49-22-4025 1 ELECTRICIANS KIT 19PC 49-22-4105 1 GENERALKIT 15PC 49-22-4175 1
LOCK SET KIT 49-22-4063 1 PLUMBERS 10PC 49-22-4145 1 ALL PURPOSE KIT 28PC 49-22-4185 1



CARBIDE GRIT HOLE SAWS

[y

Product X Product X Product .
n Number _ Number Quantity Number Quantity

3/4" 49-56-0405 1 1-1/4" 49-56-0422 1 2" 49-56-0444 1
7/8" 49-56-0409 1 1-3/8" 49-56-0426 1 2-1/4" 49-56-0449 1

1" 49-56-0413 1 1-3/4" 49-56-0437 1 2-1/2" 49-56-0456 1
1-1/8" 49-56-0417 1

CARBIDE TIPPED HOLE SAWS
>
g
Size Product Quantity Product Quantity Product Quantity
Number Number Number

5/8" 49-56-0623 1 1-7/8" 49-56-1873 1 3-1/4" 49-56-3253 1
3/4" 49-56-0753 1 2" 49-56-2003 1 3-1/2" 49-56-3503 1
7/8" 49-56-0873 1 2-1/8" 49-56-2123 1 3-5/8" 49-56-3623 1

1" 49-56-1003 1 2-1/4" 49-56-2253 1 3-3/4" 49-56-3753 1
1-1/8" 49-56-1123 1 2-3/8" 49-56-2373 1 4" 49-56-4003 1
1-1/4" 49-56-1253 1 2-1/2" 49-56-2503 1 4-1/4" 49-56-4253 1
1-3/8" 49-56-1373 1 2-5/8" 49-56-2623 1 4-1/2" 49-56-4503 1
1-1/2" 49-56-1503 1 2-3/4" 49-56-2753 1 5" 49-56-5003 1
1-5/8" 49-56-1623 1 2-7/8" 49-56-2873 1 6" 49-56-6003 1
1-3/4" 49-56-1753 1 3" 49-56-3003 1

DIAMOND HOLE SAWS

5 Product Quantit 5 Product Quantit Product Quantit
1ze Number uantity 1ze Number uantity Number uantity

7/8" 49-56-5605 1 STRTRBITW/ LG ARBOR | 49-56-7135 1 5/16" ONE-PIECE 49-56-0507 1
1-1/8" 49-56-5615 1 RTRCT STARTER BIT 49-56-8025 1 3/8" ONE-PIECE 49-56-0509 1
1-1/4" 49-56-5620 1 GRINDER ADPTR (LG) @ 49-56-7105 1 1/2" ONE-PIECE 49-56-0511 1
1-3/8" 49-56-5625 1 GRINDER ADPTR (SML) | 49-56-7103 1 5/8" ONE-PIECE 49-56-0513 1
1-1/2" 49-56-5630 1 3/16" ONE-PIECE 49-56-0503 1 3/4" ONE-PIECE 49-56-0515 1

2" 49-56-5645 1 1/4" ONE-PIECE 49-56-0505 1 1" ONE-PIECE 49-56-0517 1
2-1/2" 49-56-5660 1



RECESSED LIGHT HOLE SAWS

Product Quantit Product Quantit product Numb —
Number uantity Number uantity roduct Number uantity
1

3-1/8" 49-56-0296

5-3/8" 49-56-0303 1 6-5/8" 49-56-0310 1
4-3/8" 49-56-0300 1 6-3/8" 49-56-0305 1 6-7/8" 49-56-0315 1

BIG HAWG® HOLE CUTTERS

Product Quantit Product ST oroduct Numb Quantit
Number FEL Number uantity roduct Number uantity

BIG HAWG FILE 48-09-5055 1 3-3/8" 49-56-9025 1 7PCKIT 49-56-9075 1
CENTER SPADEBIT | 48-27-1401 1 3-5/8" 49-56-9030 1 8PCKIT 49-56-9080 1
1-3/8" 49-56-8995 1 4-1/4" 49-56-9045 1 10PCKIT 49-56-9085 1
2-1/8" 49-56-9000 1 4-5/16" 49-56-9047 1 BIG HAWG ARBOR 49-56-9105 1
2-1/4" 49-56-9005 1 4-5/8" 49-56-9050 1 1-3/8" W/PILOTBIT 49-56-9110 1
2-9/16" 49-56-9010 1 5-1/4" 49-56-9055 1 2-1/8" W/PILOT BIT 49-56-9120 1

3" 49-56-9020 1 6-1/4" 49-56-9065 1 2-9/16" W/PILOT BIT 49-56-9130 1

HOLE SAW ACCESSORIES

+.-

Mo | Quanti Product 1 quantit Product Number | Quantit
Number uantity Number EI) roduct Number uantity
12

ARBOR ADAPTER 49-56-6560 1 SMLABR3/8"Q/CTR 49-56-7210 1 PIL1/4" X4"-B(12) 49-56-8031
SML ARB 1/4" SHANK 49-56-6950 1 LGABR7/16" Q/C,EG 49-56-7240 1 PIL1/4" X3 1/2"-B(12) 49-56-8033 12
SMLABR7/16" SHK ' 49-56-7000 1 LGABR3/8" Q/C,EG 49-56-7250 1 LGABR7/16" Q/C 49-56-9100 1
SML ABR 3/8" SHANK  49-56-7010 1 PILOT1/4" X 4" 49-56-8000 1 ADAPTER SPACER 49-67-0120 1
LG ABR3/8" SHANK | 49-56-7040 1 CBDPIL1/4"X31/2" 49-56-8005 1 ADJ HC RPLMT BLADES 49-56-0290 1
LGABR7/16" Q/C | 49-56-7055 1 PILOT1/4"X31/2" | 49-56-8010 1 ADJ HOLECTR 49-56-0320 1
== % ,‘ 3



THIN WALL H

Moy | Quantit Product | quantit Product Number | Quantit
Number =il Number FEI1 roduct Number uantity
3

7/8",1-1/8",1-3/8" | 49-22-4800 1" 49-56-9815 1 1-3/8" 49-56-9830 1
3/a" 49-56-9805 1 1-1/8" 49-56-9820 1 1172 49-56-9833 !
7/8" 49569810 1 1-1/4" 49569825 | 1

Product Number Quantity| Product Number Quantity| Product Number Quantity
49-57-8305 3/4" 1 49-57-8323 1-3/8" 1 49-57-8337 2-3/8" 1
49-57-8309 7/8" 1 49-57-8325 1-7/16" 1 49-57-8339 2-1/2" 1
49-57-8311 1" 1 49-57-8327 1-1/2" 1 49-57-8341 2-5/8" 1
49-57-8315 1-1/8" 1 49-57-8329 1-3/4" 1 49-57-8343 3" 1
49-57-8317 1-7/32" 1 49-57-8331 2" 1 49-22-8300 7/8",1-1/8",1-3/8" 5

7/8",1-1/8",1-3/8",
49-57-8319 1-1/4" 1 49-57-8333 2-1/8" 1 49-22-8310 /8 /8 3/8 7
1-3/4",2"
49-57-8321 1-5/16" 1 49-57-8335 2-1/4" 1

QUICK CHANGE CARBIDE TOOTH CUTTERS FOR STEEL PLATE - 12" CUTTING DEPTH

Product Number Quantity| Product Number Quantity| Product Number
1 1

49-57-8201 11/16" 49-57-8213 1-1/16" 49-57-8223 1-3/8" 1
49-57-8203 3/4" 1 49-57-8215 1-1/8" 1 49-57-8225 1-7/16" 1
49-57-8205 13/16" 1 49-57-8217 1-3/16" 1 49-57-8227 1-1/2" 1
49-57-8207 7/8" 1 49-57-8219 1-1/4" 1 49-22-8200 11/1:5'/12{16 ’ 5
49-57-8209 15/16" 1 49-57-8221 1-5/16" 1 49-22-8210 11/16",13/16",15/1 7

6",1-1/8",1-3/8"
49-57-8211 1" 1



STEEL HAWG® QUIC HANGE CUTTERS

podtiet | uantit Product | o antit Product Number | Quantit
Number uantity Number LRy roduct Number uantity

1/2" 49-57-0251 1 1-1/16" 49-57-1064 1 1-9/16" 49-57-1564 1
9/16" 49-57-0564 1 1-1/8" 49-57-1127 1 1-5/8" 49-57-1627 1
5/8" 49-57-0626 1 1-3/16" 49-57-1189 1 1-11/16" 49-57-1689 1
11/165/8" 49-57-0689 1 1-1/4" 49-57-1252 1 1-3/4" 49-57-1752 1
3/4" 49-57-0752 1 1-5/16" 49-57-1314 1 1-13/16" 49-57-1814 1
13/16 49-57-0814 1 1-3/8" 49-57-1377 1 1-7/8" 49-57-1877 1
7/8" 49-57-0877 1 1-7/16" 49-57-1439 1 1-15/16" 49-57-1939 1
15/167/8" 49-57-0939 1 1-1/2" 49-57-1502 1 2" 49-57-2002 1
1" 49-57-1002 1

STEEL HAWG® THREADED CUTTERS

Product Quantit Product - Quantit
R uantity . roduct Number uantity

3/4" 49-57-0750 1 1-13/16" 49-57-1812 1 3-1/4" 49-57-3250 1
13/16" 49-57-0812 1 1-7/8" 49-57-1875 1 3-3/8" 49-57-3370 1
7/8" 49-57-0875 1 1-15/16" 49-57-1937 1 3-1/2" 49-57-3500 1
15/16" 49-57-0937 1 2" 49-57-2000 1 3-5/8" 49-57-3620 1
1" 49-57-1000 1 2-1/16" 49-57-2060 1 3-3/4" 49-57-3750 1
1-1/16" 49-57-1062 1 2-1/8" 49-57-2120 1 3-7/8" 49-57-3870 1
1-1/8" 49-57-1125 1 2-1/4" 49-57-2250 1 4" 49-57-4000 1
1-3/16" 49-57-1187 1 2-5/16" 49-57-2310 1 4-1/8" 49-57-4120 1
1-1/4" 49-57-1250 1 2-3/8" 49-57-2370 1 4-1/4" 49-57-4250 1
1-5/16" 49-57-1312 1 2-1/2" 49-57-2500 1 4-3/8" 49-57-4370 1
1-3/8" 49-57-1375 1 2-9/16" 49-57-2560 1 4-1/2" 49-57-4500 1
1-7/16" 49-57-1437 1 2-5/8" 49-57-2620 1 4-5/8" 49-57-4620 1
1-1/2" 49-57-1500 1 2-3/4" 49-57-2750 1 4-3/4" 49-57-4750 1
1-9/16" 49-57-1562 1 2-7/8" 49-57-2870 1 5" 49-57-5000 1
1-5/8" 49-57-1625 1 3" 49-57-3000 1 5-1/2" 49-57-5500 1
1-11/16" 49-57-1687 1 3-1/8" 49-57-3120 1 6" 49-57-6000 1
1-3/4" 49-57-1750 1

10



STEEL HAWG® ACCESSORIES

Quantity

Product Quantit Product Quantit e T
uanti uanti roduct Number
Number v Number v

#3MTTOTHRD SH | 49-57-0010 1 #3 MTTO3/4" WLDN ' 49-57-0025 1 3/8" SHK - CBD CTTRS 49-57-0035 1
#3MTTO QC SH 49-57-0012 1 3/4" SHK FORTHRD SH | 49-57-0030 1 1/2" SHK - CBD CTTRS 49-57-0037 1
#3 MTTOQC SH W/ CB| 49-57-0013 1 3/4" SHKFORQCSH | 49-57-0032 1 PILOT FOR 49-57-0035 49-57-0038 1
#2 MTTOTHRD SH | 49-57-0020 1
ANNULAR CUTTERS
o
Product Product X
Number Number Quantity Product Number | Quantity
1/2"X1" 49-59-0500 1 1-5/8" X1" 49-59-1625 1 1-3/16" X2" 49-59-2119 1
9/16" X1" 49-59-0562 1 1-11/16" X1" 49-59-1687 1 1-1/4" X 2" 49-59-2125 1
5/8"X1" 49-59-0625 1 1-3/4" X1" 49-59-1750 1 1-5/16" X2" 49-59-2131 1
11/16" X1" 49-59-0687 1 1-13/16" X1" 49-59-1812 1 1-3/8"X2" 49-59-2138 1
3/4"X1" 49-59-0750 1 1-7/8" X1" 49-59-1875 1 1-7/16" X2" 49-59-2144 1
13/16" X1" 49-59-0812 1 1-15/16" X 1" 49-59-1937 1 1-1/2"X2" 49-59-2150 1
7/8"X1" 49-59-0875 1 2"X1" 49-59-2000 1 1-9/16" X2" 49-59-2156 1
15/16" X1" 49-59-0937 1 1/2"x2" 49-59-2050 1 1-5/8" X2" 49-59-2163 1
1"X1" 49-59-1000 1 9/16" X 2" 49-59-2056 1 1-11/16" X 2" 49-59-2169 1
1-1/16" X1" 49-59-1062 1 5/8"X2" 49-59-2063 1 1-3/4"X2" 49-59-2175 1
1-1/8"X1" 49-59-1125 1 11/16" X2" 49-59-2069 1 1-13/16" X 2" 49-59-2181 1
1-3/16" X1" 49-59-1187 1 3/4"X2" 49-59-2075 1 1-7/8"X2" 49-59-2188 1
1-1/4"X1" 49-59-1250 1 13/16" X2" 49-59-2081 1 1-15/16" X 2" 49-59-2194 1
1-5/16" X 1" 49-59-1312 1 7/8"Xx2" 49-59-2089 1 2"x2" 49-59-2200 1
1-3/8"X1" 49-59-1375 1 15/16" X2" 49-59-2094 1 9/16"-1-1/16" X1" 49-22-8400 1
1-7/16" X 1" 49-59-1437 1 1"x2" 49-59-2100 1 1/2"-1-1/16" X2" 49-22-8410 1
1-1/2"Xx1" 49-59-1500 1 1-1/16" X 2" 49-59-2106 1 1" RTRCT PILOT PIN 49-59-0011 1
1-9/16" X 1" 49-59-1562 1 1-1/8"X2" 49-59-2113 1 2" RTRCT PILOT PIN 49-59-0012 1

11



1-PC STEEL HAWG® CUTTERS

Product Number |_____Size | Quantity | Product Number “ Product Number |____Size | Quantity

49-57-8064 9/16" 1 49-57-8081 13/16" 49-57-8106 1-1/16" 1
49-57-8068 11/16" 1 49-57-8093 15/16" 1

MASONRY DRILLING

FASTER DRILLING
Unique flute geometry provides efficient dust and debris removal

STARTS ON CONTACT

Patented self
centering carbide
tip maintains hole
placement

no spin (D) SECURE-GRIP™

3-Flat shank
holds bit secure
in drill chuck

Product Number Quantity | Product Number Quantity Product Number Quantity

48-20-8800 1/8" X 1-1/2"X 3" 2 48-20-8822 3/8" X 10" X 12" 48-20-8845 3/4"X4" X 6" 1
48-20-8801 5/32" X 4" X 6" 2 48-20-8823 3/8" X 16" X 18" 1 48-20-8846 3/4" X 10" X 12" 1
48-20-8805 3/16" X 2" X 4" 2 48-20-8825 7/16" X 4" X 6" 1 48-20-8847 7/8"X4" X 6" 1
48-20-8806 3/16" X 4" X 6" 2 48-20-8830 1/2"X4" X 6" 1 48-20-8848 7/8" X 10" X 12" 1
48-20-8810 1/4"X2" X 4" 1 48-20-8831 1/2" X 10" X 12" 1 48-20-8849 1"X4" Xe6" 1
48-20-8811 1/4"X4" X 6" 1 48-20-8832 1/2" X 16" X 18" 1 48-20-8854 1"X10" X 12" 1
48-20-8812 1/4" X 10" X 12" 1 48-20-8835 9/16" X 4" X 6" 1 48-20-8955 5/32"X4"X6" 5
48-20-8816 5/16" X 4" X 6" 1 48-20-8840 5/8"X4" X6" 1 48-20-8957 3/16" X 4" X 6" 5
48-20-8817 5/16" X 10" X 12" 1 48-20-8841 5/8" X 10" X 12" 1 48-20-8961 1/4" X 2" X 4" 5
48-20-8821 3/8"X4"X6" 1 48-20-8842 5/8" X 16" X 18" 1 48-20-8962 1/4" X 4" X 6" 5
48-20-8900 1/8" X 1-1/2"X 3" 48-20-8910 1/4"X2" X 4" 48-20-8925 7/16" X 4" X 6"
48-20-8901 5/32" X 4" X 6" 25 48-20-8911 1/4" X 4" X6" 25 48-20-8930 1/2"X4" X 6" 15
48-20-8905 3/16" X 2" X 4" 25 48-20-8916 5/16" X 4" X 6" 25 48-20-8940 5/8"X4" X6" 10
48-20-8906 3/16" X 4" X 6" 25 48-20-8921 3/8"X4"X6" 20

12



SDS + MX4, 4 Cutter Solid Carbide Tip

sDS{JPLUS

48-20-7310 3/16" X 2" X 4" 48-20-7335 1/4" X 10" X 12"

48-20-7311 3/16"x4"X 6" ! 48-20-7341 5/16"X 4" X 6" ! 4-Cutter, Solid Carbide Tip for Up to 3X Life in
48-20-7312 3/16" X 6" X 8" 1 48-20-7351 3/8"X4"X6" 1 Rebar

48-20-7313 3/16" X 8" X 10" 1 48-20-7354 3/8"X 10" X 12" 1 2::’Ilsicl\alltci>:re‘sl-\ccurate Holes for Anchoring
48-20-7314 16" X 10" X 12" 1 48-20-7357 3/8" X 16" X 18" 1 Centering Tip for Accurate Hole Placement
48-20-7330 1/4" X 2" X 4" 1 48-20-7371 1/2" X 4" X 6" 1 Won't Lock Up in Rebar

48-20-7331 1/4" X 4" X 6" 1 48-20-7374 1/2"X10" X 12" 1

48-20-7332 1/4" X 6" X 8" 1 48-20-7377 1/2" X 16" X 18" 1

48-20-7334 1/4" X 8" X 10" 1

48-20-7911 3/16" X 4" X 6" 48-20-7951 3/8"X4"X6"

48-20-7931 1/4" X 4" X 6" 15 48-20-7971 1/2"X4" X 6" 10

48-20-7200 5/8"X6"X8" 48-20-7220 3/4" X 16" X 18" 48-20-7240 1" X8"X10"

48-20-7203 5/8" X 10" X 12" 1 48-20-7225 7/8"X6" X 8" 1 48-20-7246 1" X 16" X 18" 1
48-20-7206 5/8" X 16" X 18" 1 48-20-7230 7/8"X10" X 12" 1 48-20-7250 1-1/8" X 8" X 10" 1
48-20-7210 3/4"X6" X 8" 1 48-20-7236 7/8"X 16" X 18" 1 48-20-7256 1-1/8" X 16" X 18" 1
48-20-7215 3/4" X 10" X 12" 1

SDS +, Stop Bits

48-20-7651 STOP BIT 3/8" X 1-1/16" 1
48-20-7652 STOP BIT 1/2" X 13/16" 1
48-20-7653 STOP BIT 1/2" X 1-11/16" 1
48-20-7654 STOP BIT5/8" X 1-1/16" 1
48-20-7655 STOPBIT 5/8" X 2-1/16" 1

13



48-20-7400
48-20-7401
48-20-7410
48-20-7411
48-20-7412
48-20-7413
48-20-7414
48-20-7415
48-20-7416
48-20-7421
48-20-7422
48-20-7424
48-20-7425
48-20-7426
48-20-7430
48-20-7431
48-20-7432

48-20-7434

48-20-7435

48-20-7436

48-20-7438

SDS +, 2 Cutter (Bulk)

48-20-7191
48-20-7192
48-20-7196
48-20-7198
48-20-7500
48-20-7501
48-20-7510
48-20-7511
48-20-7512
48-20-7513
48-20-7514
48-20-7515
48-20-7516

5/32" X 2" X 4-1/2"

5/32"X4" X 6"

3/16" X 2" X 4-1/2"

3/16" X 4" X 6"
3/16" X 6" X 8"
3/16" X 8" X 10"
3/16" X 10" X 12"
3/16" X 12" X 14"
3/16" X 14" X 16"
7/32"X4" X 6"
7/32" X 6" X 8"
7/32" X 9" X 11"
7/32" X 12" X 14"
7/32" X 14" X 16"
1/4" X 2" X 4-1/2"
1/4" X 4" X 6"
1/4" X 6" X 8"

1/4" X 9" X 11"
1/4" X 12" X 14"

1/4" X 14" X 16"

1/4" X 18" X 20"

5/32"X4"X7"
3/16" X 4" X 7"
5/32"X3"X6"
3/16" X 3" X 6"

5/32" X 2" X 4-1/2"

5/32"X4" X 6"

3/16" X 2" X 4-1/2"

3/16" X 4" X 6"

3/16" X 6" X 8"
3/16" X 8" X 10"
3/16" X 10" X 12"
3/16" X 12" X 14"
3/16" X 14" X 16"

B OR R R R R R R R R R R R R R R

=

25
25
25
25
25
25
25
25
25
25
25
25

48-20-7441
48-20-7444
48-20-7451
48-20-7452
48-20-7453
48-20-7454
48-20-7457
48-20-7459
48-20-7461
48-20-7464
48-20-7467
48-20-7471
48-20-7473
48-20-7474

48-20-7479
48-20-7481

48-20-7484

48-20-7487

48-20-7601

48-20-7521
48-20-7522
48-20-7524
48-20-7525
48-20-7526
48-20-7530
48-20-7531
48-20-7532
48-20-7534
48-20-7535
48-20-7536
48-20-7541

5/16" X 4" X 6"
5/16" X 10" X 12"
3/8" X 4" X 6"
3/8" X 6" X 8"
3/8" X 8" X 10"
3/8" X 10" X 12"
3/8"X 16" X 18"
3/8" X 22" X 24"
7/16" X 4" X 6"

7/16"X 10" X 12-1/2"

7/16" X 16" X 18"
1/2" X 4" X 6"
1/2" X 8" X 10"
1/2" X 10" X 12"
1/2" X 16" X 18"
1/2" X 22" X 24"

9/16" X 4" X 6-1/2"

9/16"X 10" X 12-1/2"

9/16" X 16" X 18"

5/8"X4"X 6"

7/32" X 4" X 6"
7/32" X 6" X 8"
7/32" X 9" X 11"
7/32" X 12" X 14"
7/32" X 14" X 16"
1/4" X 2" X 4-1/2
1/4" X 4" X 6"
1/4" X 6" X 8"
1/4" X 9" X 11"
1/4" X 12" X 14"
1/4" X 14" X 16"
5/16" X 4" X 6"

\‘!_.."""._—:_‘—_‘J

R OR R R R R R R R R R R R R R R

[

25
25
25
25
25
25
25
25
25
25
25

48-20-7602
48-20-7604
48-20-7607
48-20-7609
48-20-7058
48-20-7061
48-20-7063
48-20-7065
48-20-7066
48-20-7067
48-20-7068
48-20-7069
48-20-7071
48-20-7072
48-20-7075
48-20-7080
48-20-7085

48-20-7490

48-20-7495

48-20-7497

48-20-7551
48-20-7554
48-20-7571
48-20-7574
48-20-7702
48-20-7810
48-20-7811
48-20-7830
48-20-7831
48-20-7841
48-20-7851
48-20-7871

5/8"X6" X 8"
5/8" X 10" X 12"
5/8" X 16" X 18"
5/8" X 22" X 24"
11/16" X 6" X 8"

3/4"X6" X 8"
3/4" X 8" X 10"
3/4"X 10" X 12"
3/4" X 16" X 18"
3/4" X 22" X 24"
13/16" X 6" X 8"
27/32" X 6" X 8"

7/8"X6" X 8"
7/8" X 10" X 12"
7/8" X 16" X 18"

1" X 8" X 10"

1" X 16" X 18"

5 PCKIT 3/16, 1/4,

5/16,3/8,1/2

6 PCKIT 1/4(2), 3/16(2),

3/8,1/2

TAPCON INSTALLATION

KIT

3/8"X4"X6"
3/8" X 10" X 12"

1/2"X4"X6"
1/2"X 10" X 12"

5/8"X6" X 8"

3/16" X 2" X 4-1/2"

3/16" X 4" X 6"
1/4" X 2" X 4-1/2"
1/4" X 4" X 6"
5/16" X 4" X 6"
3/8"X4"X6"
1/2" X 4" X 6"

R OR R R R R R R R R R R R R R R

=

=

20
15
15
10
200
200
200
200
150
125
100

14



48-20-3901
48-20-3902
48-20-3903
48-20-3904
48-20-3905
48-20-3906
48-20-3909
48-20-3910
48-20-3912
48-20-3916
48-20-3917
48-20-3918
48-20-3922
48-20-3923
48-20-3926
48-20-3930

B e T T

48-20-4037
48-20-4050
48-20-4051
48-20-4052
48-20-4053
48-20-4054
48-20-4056
48-20-4057
48-20-4062
48-20-4063
48-20-4064
48-20-4068
48-20-4075
48-20-4076
48-20-4078
48-20-4081
48-20-4087
48-20-4088

2CT 3/8" X 8" X13"
2CT1/2" X 7-1/2" X 13"
CT1/2"X12X17"
2CT 1/2" X 15-1/2" X 21"
2CT 1/2" X 23" X 28"
2CT 1/2" X 31" X 36"
2CT 1/2" X 54" X 60"
2CT9/16" X 7-1/2" X 13"
2CT 9/16" X 15-1/2" X 21"
4CT5/8" X 7-1/2" X 13"
4CT5/8" X 12X 17"
4CT5/8" X 15-1/2" X 21"
4CT 5/8" X 30-1/2" X 36"
4CT 5/8" X 54" X 60"
4CT 11/16" X 15-1/2" X 21"
4CT 3/4" X 8" X 13"

2CT 3/8" X 5" X 10"
2CT1/2" X 5" X 10"
2CT1/2" X 11" X 16"
2CT1/2" X 11" X 16"
2CT 1/2" X 22" X 27"
2CT 1/2" X 31" X 36"
2CT 9/16" X 5" X 10"
2CT 9/16" X 18" X 23"
2CT5/8" X 5" X 10"
2CT5/8" X 11" X 16"
2CT5/8" X 17" X 22"
2CT 11/16" X11" X 16"
2CT 3/4" X 5" X 10"
2CT3/4" X 11" X 16"
2CT 3/4" X 17" X 22"
2CT 13/16" X 11" X 16"
2CT7/8" X 11" X 16"
2CT7/8" X 17" X 22"

R OR R R R R R R R R R R R R R R

R R R R R R R R R R R R R R R R @R

48-20-3931
48-20-3932
48-20-3936
48-20-3938
48-20-3944
48-20-3945
48-20-3946
48-20-3949
48-20-3952
48-20-3953
48-20-3954
48-20-3956
48-20-3958
48-20-3964
48-20-3966

48-20-4100
48-20-4101
48-20-4112
48-20-4113
48-20-4125
48-20-4126
48-20-4137
48-20-4138
48-20-4150
48-20-4151
48-20-4300
48-20-4305
48-20-4310
48-20-4315
48-20-4320
48-20-4325
48-20-4330
48-20-4335

4CT 3/4"X 12X 17"
4CT 3/4" X 17" X 21"
4CT 3/4" X 30" X 36"
4CT 13/16" X 17" X 21"
4CT 7/8" X 8" X 13"
4CT 7/8"X 12X 17"
4CT 7/8" X 17" X 21"
4CT 7/8" X 31" X 36"
4CT 1" X 8" X 13"
4CT 1" X12X17"
4CT1" X 17" X 21"
4CT 1" X 31" X 36"
4CT 1-1/16" X 18" X 23"
4CT 1-1/8"X 12" X 17"
4CT 1-1/8"X 17" X 21"

2CT1" X 11" X 16"
2CT1" X 17" X 22"
2CT1-1/8" X 11" X 16"
2CT 1-1/8" X 17" X 22"
2CT1-1/4" X 11" X 16"
2CT 1-1/4" X 17" X 22"
2CT 1-3/8" X 11" X 16"
2CT 1-3/8" X 17" X 22"
2CT1-1/2" X 11" X 16"
2CT 1-1/2" X 17" X 22"
4CT 5/8" X 5" X 10"
4CT5/8"X 11" X 16"
4CT 5/8" X 17" X 22"
4CT 5/8" X 24" X 29"
4CT 5/8" X 31" X 36"
4CT 11/16" X 11" X 16"
4CT 3/4" X 5" X 10"
4CT 3/4"X 11" X 16"

B OR R R R R R R R R R R R R R

B R R R R R R R R R R R R R R R R

PR SN S

48-20-3967
48-20-3968
48-20-3970
48-20-3972
48-20-3974
48-20-3975
48-20-3980
48-20-3983
48-20-3984
48-20-3986
48-20-3988
48-20-3990
48-20-3991
48-20-3992
48-20-3993

48-20-4340
48-20-4345
48-20-4350
48-20-4360
48-20-4365
48-20-4367
48-20-4370
48-20-4375
48-20-4380
48-20-4385
48-20-4390
48-20-4395
48-20-4400
48-20-4405
48-20-4410
48-20-4415
48-20-4418
48-20-4419

4CT 1-1/8" X 31" X36"
4CT 1-3/16" X 18" X 23"
4CT 1-1/4" X 10" X 15"
4CT 1-1/4" X 18" X 23"
4CT 1-1/4" X 31" X 36"
4CT 1-3/8" X 12" X17"
4CT 1-3/8" X 18" X 23"
4CT 1-3/8" X 31" X36"
4CT 1-7/16" X 18" X 23"
4CT 1-1/2" X 12" X17"
4CT 1-1/2" X 18" X 23"
4CT 1-9/16" X 18" X 23"
4CT 1-5/8" X 18" X 23"
4CT 1-3/4" X 18" X 23"
4CT 2" X 18" X 23"

4CT 3/4" X 17" X 22"
4CT 3/4" X 24" X 29"
4CT 3/4" X 31" X 36"
4CT 7/8"X 11" X 16"
4CT 7/8" X 17" X 22"
4CT 7/8" X 31" X 36"
4CT1" X 11" X 16"
4CT 1" X 17" X 22"
4CT1" X 31" X 36"
4CT1-1/8"X 11" X 16"
4CT 1-1/8" X 17" X 22"
4CT 1-1/4"X 11" X 16"
4CT 1-1/4" X 17" X 22"
4CT 1-1/4" X 31" X 36"
4CT 1-3/8" X 17" X 22"
4CT 1-1/2" X 17" X 22"
4CT 1-3/4" X 18" X 23"
4CT 2" X 18" X 23"

L —

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

15



SDS MAX 1-PIECE CORE BITS

SDS { $ MAX

48-20-5400 1-1/2" X 11-3/8" 48-20-5412 2-5/8" X 11-3/8" 48-20-5432 4" X11-3/8"

48-20-5402 1-1/2" X 22" 1 48-20-5414 2-5/8" X 22" 1 48-20-5434 4" X 22"

48-20-5404 1-3/4" X 11-3/8" 1 48-20-5420 3-1/8" X 11-3/8" 1 48-20-5436 5" X 11-3/8" 1
48-20-5406 1-3/4" X 22" 1 48-20-5422 3-1/8" X 22" 1 48-20-5438 5" X 22" 1
48-20-5408 2" X 11-3/8" 1 48-20-5428 3-9/16 X 11-3/8" 1 48-20-5440 6" X 22" 1
48-20-5410 2" X 22" 1 48-20-5430 3-9/16" X 22" 1

SPLINE 1-PIECE CORE BITS

SPLINE{ }

48-20-5450  1-1/2" X 11-3/8" 48-20-5462 = 2-5/8"X11-3/8" 1 48-20-5482 4" X 11-3/8"

48-20-5452 1-1/2" X 22" 1 48-20-5464 2-5/8" X 22" 1 48-20-5484 4" x22"

48-20-5454  1-3/4" X 11-3/8" 1 48-20-5470  3-1/8" X 11-3/8" 1 48-20-5486 5" X 11-3/8" 1
48-20-5456 1-3/4" X 22" 1 48-20-5472 3-1/8" X 22" 1 48-20-5488 5" X 22" 1
48-20-5458 2"X11-3/8" 1 48-20-5478  3-9/16X 11-3/8" 1 48-20-5490 6" X 22" 1
48-20-5460 2"X22" 1 48-20-5480 3-9/16" X 22" 1

SDS MAX 1-PC TUNNEL BITS

SDS { I MAX

48-20-5300 1-1/2"X12-1/4" 48-20-5310 2-1/8"X12-1/4" 48-20-5318 2-1/2" X 22"

48-20-5302 1-1/2" X 22" 1 48-20-5312 2-1/8" X 22" 1 48-20-5320 2-1/2" X 39" 1
48-20-5304 1-3/4"X12-1/4" 1 48-20-5314 2-1/8" X 39" 1 48-20-5322 3-1/8"X12-1/4" 1
48-20-5306 1-3/4" X 22" 1 48-20-5316 2-1/2"X12-1/4" 1 48-20-5324 3-1/8" X 22" 1
48-20-5308 1-3/4" X 39" 1

16



SDS + 2-PIECE CORE BITS - THIN WALL

SDS{ JPLUS |

B S T T

48-20-5005 1" X 3-3/16" 48-20-5045 3" X 2-13/16" 48-20-6155 PIN 1-3/4"-6"

48-20-5010 1-1/8" X 3-3/16" 1 48-20-5050 3-1/2" X 2-13/16" 1 48-20-6156 1-3/4" GUIDE PLATE 1
48-20-5015 1-1/4" X 3-3/16" 1 48-20-5055 4" X 2-13/16" 1 48-20-6157 2" GUIDE PLATE 1
48-20-5020 1-3/8" X 3-3/16" 1 48-20-6150 PIN 1-1/4"-1-1/2" 1 48-20-6158 2-1/2" GUIDE PLATE 1
48-20-5025 1-1/2" X 3-3/16" 1 48-20-6151 1-1/4" GUIDE PLATE 1 48-20-6159 3" GUIDE PLATE 1
48-20-5030 1-3/4" X 2-13/16" 1 48-20-6152 1-3/8" GUIDE PLATE 1 48-20-6160 3-1/2" GUIDE PLATE 1
48-20-5035 2" X 2-13/16" 1 48-20-6153 1-1/2" GUIDE PLATE 1 48-20-6161 4" GUIDE PLATE 1
48-20-5040 2-1/2" X 2-13/16" 1

SDS MAX/SPLINE 2-PIECE CORE BITS - THICK WALL

spl.mEC}

SDS{ ; MAX

48-20-5125 1-1/2" X 4-1/16" 48-20-5165 6" X 4-1/16" 48-20-5175 THICK 5" GUIDE PLATE
48-20-5130 1-3/4" X 4-1/16" 1 48-20-5168 1-1/2" GUIDE PLATE 1 48-20-5176 THICK 6" GUIDE PLATE 1
48-20-5135 2" X 4-1/16" 1 48-20-5169 1-3/4" GUIDE PLATE 1 48-20-5199 PIN 1
48-20-5140 2-1/2" X 4-1/16" 1 48-20-5170 2" GUIDE PLATE 1 48-20-6162 THIN 5" GUIDE PLATE 1
48-20-5145 3" X 4-1/16" 1 48-20-5171 2-1/2" GUIDE PLATE 1 48-20-6163 THIN 6" GUIDE PLATE 1
48-20-5150 3-1/2" X 4-1/16" 1 48-20-5172 3" GUIDE PLATE 1 48-20-5060 THIN WALL 5" X 2-13/16" 1
48-20-5155 4" X4-1/16" 1 48-20-5173 3-1/2" GUIDE PLATE 1 48-20-5065 THIN WALL 6" X 2-13/16" 1
48-20-5160 5" X4-1/16" 1 48-20-5174 4" GUIDE PLATE 1

17



LHS

FOR CONCRETE DRILLING

LHS COMPONENT BIT

HEAVY-DUTY LHS HAMMER SYSTEM'

VERSATILITY AT A LOWER COST REPLACEMENT SHANKS
Fawer bits to do the same job, less inventory and

storage space required.
REPLACEMENT HEADS o

No need to replace the entire bit when the head wears.  foundations.

LARGE HOLE SYSTEM COMPONENTS

cone ot -w_—_.
weeATERNG 81 '

4 CUTTER FLUTED BIT*

SPLINE SHANK

REPLACEMENT STUD

0

URBO TUNNEL BIT

EXTENSION

No need to replace the entire bt if the shank wurs
EXTENDABLE - No need to buy longer bits,
onsons! 1464t or otk was i od bmldmu

48-20-5070
48-20-5071
48-20-5075

48-20-5077

48-20-5079
48-20-5081
48-20-5082

4CT 1-1/8" X 17" X 18"
4CT 1-1/4" X 17" X 18"
SPLINE 7" ADAPTER SHANK

SDS-MAX 7-1/2"ADAPTER SHANK

11" EXTENTION
2-1/2" THREADED STUD
TUNNEL 1-3/8" X 35mm

48-20-5083
48-20-5084
48-20-5085

48-20-5087

48-20-5089
48-20-5090
48-20-5091

TUNNEL 1-1/2" X 40mm
TUNNEL 1-3/4" X 45mm
TUNNEL 2-1/8" X 55mm

TUNNEL 2-5/8" X 68mm

TUNNEL 3-1/8" X 80mm
CORE 1-1/2" X 3"
CORE 1-3/4" X 3"

1
1

48-20-5092
48-20-5093
48-20-5094

48-20-5095

48-20-5096
48-20-5097
48-20-5099

CORE 2-1/8" X 3"
CORE 2-5/8" X 3"
CORE 3-1/8" X 3"

CORE 3-1/2" X 3"

CORE 4" X 3"
CORE5" X 3"
REPLACEMENT CENTERING BIT

MAX-LOK® SYSTEM

B T B S ) AT B ST

48-20-6950
48-20-6960
48-20-6962
48-20-6964

CONNECTION
SDS-MAX 12.5" EXTENSION
SDS-MAX 29.5" EXTENSION

SDS-MAX 43" EXTENSION

S

48-20-6966
48-20-6968
48-20-6970
48-20-6972

SDS-MAX 63" EXTENSION
SDS-MAX 82.5" EXTENSION
SPLINE 12.5" EXTENSION
SPLINE 29.5" EXTENSION

CHUCKS & ADAPTERS

1

1
1
1

48-20-6974
48-20-6980
48-20-6982
49-08-5385

SPLINE 43" EXTENSION
SDS-PLUS 12.5" EXTENSION
SDS-PLUS 29.5" EXTENSION

GREASE

1

1
1
1

48-03-3010

48-03-3012

48-66-1370

48-66-3044

48-66-6502

48-66-6503

48-03-1000

48-03-1005

SPLINE TO SDSMAX ADAPTER

SDSMAXTO SPLINE ADAPTER

SDS-PLUS TO CHUCK ADAPTER

ADAPTER SDS PLUS

SPLINE TO "A" TAPER ADAPTER

SPLINE TO "B" TAPER ADAPTER

ADAPTER DISC WHEEL HUB

ADAPTER THREADED ARBOR

48-03-3005

48-03-3015

48-03-3025

48-03-3030

48-03-3540

48-03-3545

48-03-3551

48-03-3555

SDS TO CHUCK ADAPTER
SPLINE TO SDS ADAPTER
SDS-MAXTO SDS-PLUS ADAPTER

SDS-PLUS DUST SHEILD

SPLINE CORE THIN 12" ADAPTER
5"_g"

SDS+ CORE 8" ADAPTER 1"-1-1/2"

SDS+ CORE 12" ADAPTER 1"-1-
1/2"

SDS+ CORE 8" ADAPTER 1-3/4"-4"

48-03-3561

48-03-3564

48-03-3565

48-03-3572

48-03-3573

48-03-3574

48-03-3630

48-04-0160

SDS-PLUS CORE 12" ADAPTER 1-
3/4"-4
SPLINE CORE THICK 12"ADAPTER
1_1/2u_6u
SPLINE CORE THICK 18" ADAPTER
1'1/2"'6"
MAX CORE THICK 12" ADAPTER 1-
1/2"_6“
MAX CORE THICK 18" ADAPTER 1-
1/2"'6"
MAX CORE THICK 12" ADAPTER 1-
3/4“_6“

HEX ADAPTER

DIA CORE THREAD ADAPTER

18



DS + DEMOLITION HAMMER STEEL

SDS] _(PLUS

BT A T B

48-62-6010 10" BULL POINT 48-62-6110 10" BULL POINT

48-62-6015 3/4" X 10"FLAT CHISEL 1 48-62-6115 3/4" X 10" FLAT CHISEL 25
48-62-6020 1-1/2" X 10"SCALING 1 48-62-6120 1-1/2" X 10" SCALING CHISEL 25
48-62-6030 TILE CHISEL 1

48-62-6035 MORTAR SCRAPER TOOL 1

SDS MAX DEMOLITION HAMMER STEEL

SDS{ $ MAX

I S B N B

48-62-4063 CARBIDE BUSHING TOOL 48-62-4082 1-1/2" X 12" SCALING CHISEL
48-62-4065 10-1/2" BUSHING TOOL 1 48-62-4085 2" X 12" SCALING CHISEL 1
48-62-4066 16-1/2" ASPHALT CUTTER 1 48-62-4087 3" X 12" SCALING CHISEL 1
48-62-4068 16-5/8" CLAY SPADE 1 48-62-4089 2" X 12" SCRAPING CHISEL 1
48-62-4073 15" SLOTTING CHISEL 1 48-62-4091 9-3/4" GROUND ROD DRIVER 1
48-62-4075 12" BULL POINT 1 48-62-4092 12" TAMPER SHANK 1
48-62-4077 18" BULL POINT 1 48-62-4095 FLOOR SCRAPER 1
48-62-4079 12" FLAT CHISEL 1 48-62-1900 FLOOR SCRAPER HOLD DOWN PLATE 1
48-62-4080 15" SEAM TOOL 1 48-62-1905 FLOOR SCRAPER HOLD DOWN PLATE 1
48-62-4081 18" FLAT CHISEL 1 48-62-1910 FLOOR SCRAPER HOLD DOWN PLATE 1
B A T B
48-62-4168 16-5/8" CLAY SPADE 48-62-4181 18" FLAT CHISEL
48-62-4175 12" BULL POINT 25 48-62-4185 2" X 12" SCALING CHISEL 25
48-62-4177 18" BULL POINT 25 48-62-4187 3" X 12" SCALING CHISEL 25
48-62-4179 12" FLAT CHISEL 25

19



BAND SAW BLADES

48-39-0500
48-39-0501
48-39-0502
48-39-0507
48-39-0508
48-39-0509
48-39-0510
48-39-0511
48-39-0512
48-39-0514
48-39-0517

DEEP CUT (44-7/8") 10TPI
DEEP CUT (44-7/8") 10TPI
DEEP CUT (44-7/8") 10TPI
COMPACT (35-3/8") 10TPI
COMPACT (35-3/8") 10TPI
COMPACT (35-3/8") 10TPI
DEEP CUT (44-7/8") 14TPI
DEEP CUT (44-7/8") 14TPI
DEEP CUT (44-7/8") 14TPI
DEEP CUT (44-7/8") 14TPI
COMPACT (35-3/8") 14TPI

100
100

W =W

100

100

48-39-0518
48-39-0519
48-39-0520
48-39-0521
48-39-0522
48-39-0524
48-39-0527
48-39-0528
48-39-0529
48-39-0530
48-39-0531
48-39-0532

COMPACT (35-3/8") 14TPI
COMPACT (35-3/8") 14TPI
DEEP CUT (44-7/8") 18TPI
DEEP CUT (44-7/8") 18TPI
DEEP CUT (44-7/8") 18TPI
DEEP CUT (44-7/8") 18TPI
COMPACT (35-3/8") 18TPI
COMPACT (35-3/8") 18TPI
COMPACT (35-3/8") 18TPI
DEEP CUT (44-7/8") 24TPI
DEEP CUT (44-7/8") 24TPI
DEEP CUT (44-7/8") 24TPI

W = W

100

100

100

48-39-0534
48-39-0537
48-39-0538
48-39-0539
48-39-0550
48-39-0551
48-39-0552
48-39-0554
48-39-0560
48-39-0561
48-39-0562
48-39-0572

DEEP CUT (44-7/8") 24TPI
COMPACT (35-3/8") 24TPI
COMPACT (35-3/8") 24TPI
COMPACT (35-3/8") 24TPI
DEEP CUT (44-7/8") 10/14TPI
DEEP CUT (44-7/8") 10/14TPI
DEEP CUT (44-7/8") 10/14TPI
DEEP CUT (44-7/8") 10/14TPI
DEEP CUT (44-7/8") 14/18TPI
DEEP CUT (44-7/8") 14/18TPI
DEEP CUT (44-7/8") 14/18TPI
M12™ SUB-COMPACT (27") 18TPI

100

100
3

CIRCULAR SAW BLADES

B T T S B S

48-40-4005
48-40-4006
48-40-4015
48-40-4016
48-40-4108
48-40-4112
48-40-4116
48-40-4120
48-40-4123
48-40-4126
48-40-4132

6-1/2"60CBD T
6-7/8" 52 NON FERR
6-1/2"48CBDT
6-7/8"
6-1/224CBDT
6-1/240CBD T
7-1/416CBDT
7-1/424CBDT
7-1/424CBDT
7-1/440CBD T
7-1/448CBD T

48-40-4138
48-40-4140
48-40-4148
48-40-4150
48-40-4152
48-40-4160
48-40-4162
48-40-4164
48-40-4166
48-40-4168

7-1/4 140 HSS T
7-1/4 HSS
8-1/418CBDT
8-1/424CBDT
8-1/440CBD T
1024CBDT
1040CBD T
1060CBD T
1080CBD T
1080CBD T

48-40-4170
48-40-4172
48-40-4505
48-40-4510
48-40-4515
48-40-4520
48-40-4530
48-40-4540
48-40-4070
48-40-4075

10-1/428CBDT
10-1/440CBD T
DRY CUT 14" 72T
DRY CUT 14" 90T
METAL CUT 8" 42T
METAL CUT 8" 50T
METAL CUT 8" 60T AL
METAL CUT 8" 60T AL
METAL 5-3/8 FERROUS
METAL 5-3/8 NON FERR

20



WIRE BRUSHES & WHEELS

48-52-1000 1/2" CRIMPED END 48-52-1335 4" BEVEL CRIMPED

48-52-1010 3/4" CRIMPED END 1 48-52-1340 4" BEVEL CRIMPED 1
48-52-1015 1" CRIMPED END 1 48-52-1350 4" KNOTTED CUP 1
48-52-1020 1" CRIMPED END 1 48-52-1400 5" CRIMPED WIRE CUP 1
48-52-1022 3/4" CRIMPED END 1 48-52-1600 6" CRIMPED WIRE CUP 1
48-52-1025 1" CRIMPED END 1 48-52-1650 6" KNOTTED CUP 1
48-52-1027 1" CRIMPED END 1 48-52-1700 5" STRINGER BEAD 1
48-52-1030 3/4" KNOTTED END 1 48-52-1705 5" STRINGER BEAD 1
48-52-1035 3/4" KNOTTED END 1 48-52-1710 5" STRINGER BEAD KNOT 1
48-52-1045 1-1/8" KNOTTED END 1 48-52-1715 6" STRINGER BEAD 1
48-52-1050 2-1/2" FLARED END 1 48-52-1720 6" STRINGER BEAD 1
48-52-1055 1-1/8" KNOTTED END 1 48-52-1725 6" STRINGER BEAD 1
48-52-1125 2-3/4" KNOT CUP 1 48-52-2220 4" STRINGER BEAD 1
48-52-1130 2-3/4" KNOT CUP 1 48-52-2225 4" CABLE TWIST KNOT 1
48-52-1225 4" STRINGER BEAD 1 48-52-2310 5" STD TWIST KNOT 1
48-52-1250 4" CABLE TWIST KNOT 1 48-52-2510 6" STANDARD TWIST 1
48-52-1275 4" CRIMPED WIRE 1 48-52-5000 4" STRINGER BEAD 1
48-52-1285 4" BEVELKNOTTED 1 48-52-5010 4" STRINGER BEAD 1
48-52-1290 4" BEVELKNOTTED 1 48-52-5020 4" CABLE TWIST KNOT 1
48-52-1295 4" BEVELKNOTTED 1 48-52-5030 4" CABLE TWIST KNOT 1
48-52-1300 4" CRIMPED WIRE CUP 1 48-52-5040 3" KNOT CUP 1
48-52-1305 4" BEVELKNOTTED 1 48-52-5050 3" KNOT CUP 1
48-52-1315 4" BEVELKNOTTED 1 48-52-5060 3"CRIMP STYLE CUP 1
48-52-1320 4" BEVELKNOTTED 1 48-52-5065 3-1/2" CRIMP CUP 1
48-52-1325 4" BEVEL CRIMPED 1 48-52-5067 3-1/2" KNOT CUP 1
48-52-1330 4" BEVEL CRIMPED 1 48-52-5070 4" CRIMPED WIRE 1

21



Srosuar | omaptr | an || promar | Don |

49-92-0200
49-92-0250
49-92-0500
49-92-0510
49-92-2240
49-92-3260
49-94-1220
49-94-1270
49-94-1275
49-94-1280
49-94-1285
49-94-1405
49-94-1410
49-94-1415
49-94-1470
49-94-1475
49-94-1480
49-94-1485
49-94-1500
49-94-4500
49-94-4505
49-94-4510
49-94-4515
49-94-4520
49-94-4525
49-94-4570
49-94-4580
49-94-4585
49-94-5000
49-94-5005
49-94-5010
49-94-5020
49-94-5080
49-94-5730
49-94-5740
49-94-6300
49-94-6305
49-94-6330

49-94-6340

GRINDING WHL 2-1/2X1/2 60 GRIT
GRINDING WHL 2-1/2X1/2 36 GRIT
GRINDING WHL 3X1/2 36 GR
GRINDING WHL 3X1/2 60 GR
GRINDING WHL 5 X 1 24 GR
GRINDING WHL 6 X 1 24 GR
CUTTING WHL 12X 3/32X 1
CUTTING WHL 12 X 1/8 X 20MM
CUTTING WHL12 X 1/8X 1
CUTTING WHL 12 X 1/8 X 20MM
CUTTING WHL12 X 1/8X 1
CUTTING WHL14 X 3/32X 1
CUTTING WHL14 X 3/32X 1
CUTTING WHL14 X 3/32X 1
CUTTING WHL 14 X 1/8 X 20MM
CUTTING WHL14 X 1/8 X 1
CUTTING WHL 14 X 1/8 X 20MM
CUTTING WHL14 X 1/8 X 1
1-1/2" ROTARY TL CUTT DISK
CUTTING WHL4-1/2 X .045 X 7/8 TYPE 1
CUTTING WHL 4-1/2 X .045 X 7/8 TYPE 27
GRINDING DISC 4-1/2 X 1/8X 7/8
GRINDING DISC 4-1/2 X 1/4 X 5/8-11
GRINDING DISC4-1/2X 1/4X 7/8
GRINDING DISC 4-1/2 X 1/8 X 5/8-11
GRINDING DISC4-1/2X 1/4X 7/8
GRINDING DISC4-1/2X 1/4X 7/8
GRINDING DISC 4-1/2 X 1/4 X 5/8-11
CUTTING WHL5 X .045 X 7/8 TYPE 1
CUTTING WHL5 X .045 X 7/8 TYPE 27
GRINDING DISC5 X 1/8 X 7/8
GRINDING DISC5 X 1/4X 7/8
GRINDING DISC5 X 1/4X 7/8
GRINDING DISC5 X 1/4X 7/8
GRINDING DISC5 X 1/8 X 7/8
CUTTING WHL 6 X .045 X 7/8 TYPE 1
CUTTING WHL 6 X .045 X 7/8 TYPE 27
GRINDING DISC 6 X 1/4 X 5/8-11

GRINDING DISC6 X 1/4X7/8

R R R R R R R R R R R R RB R R R RRRRRR R R R R R R R R R R R R R B R @R

[

ABRASIVES

49-94-6360
49-94-7015
49-94-7020
49-94-7025
49-94-7050
49-94-7055
49-94-7075
49-94-7085
49-94-7735
49-94-9015
49-94-9025
49-94-9085
49-94-9735
48-03-1050
48-80-8000
48-80-8001
48-80-8002
48-80-8010
48-80-8011
48-80-8012
48-80-8020
48-80-8021
48-80-8022
48-80-8030
48-80-8031
48-80-8032
48-80-8040
48-80-8041
48-80-8042
48-80-8100
48-80-8101
48-80-8102
48-80-8110
48-80-8111
48-80-8112
48-80-8200
48-80-8201
48-80-8202

GRINDING DISC 6 X 1/8 X 5/8-11
GRINDING DISC 7 X 1/8 X 5/8-11
GRINDING DISC7 X 1/4X 7/8
GRINDING DISC7 X 1/4 X 5/8-11
CUTTING WHL7 X 3/32X 5/8
CUTTING WHL7 X 1/8 X 5/8
GRINDING DISC 7 X 1/8 X 5/8-11
GRINDING DISC 7 X 1/4 X 5/8-11
GRINDING DISC7 X 1/4 X 5/8-11
GRINDING DISC 9 X 1/8 X 5/8-11
GRINDING DISC 9 X 1/4 X 5/8-11
GRINDING DISC9 X 1/4 X 5/8-11
GRINDING DISC 9 X 1/4 X 5/8-11
SPANNER/FLANGE NUT KIT
FLAP DISC 4-1/2 X 7/8 36 GRIT
FLAP DISC 4-1/2 X 7/8 60 GRIT
FLAP DISC 4-1/2 X 7/8 80 GRIT
FLAP DISC 4-1/2 X 5/8-11 36 GRIT
FLAP DISC 4-1/2 X 5/8-11 60 GRIT
FLAP DISC 4-1/2 X 5/8-11 80 GRIT
FLAP DISC 5 X 7/8 36 GRIT
FLAP DISC 5 X 7/8 60 GRIT
FLAP DISC 5 X 7/8 80 GRIT
FLAP DISC 7 X 7/8 36 GRIT
FLAP DISC 7 X 7/8 60 GRIT
FLAP DISC 7 X 7/8 80 GRIT
FLAP DISC 7 X 5/8-11 36 GRIT
FLAP DISC 7 X 5/8-11 60 GRIT
FLAP DISC 7 X 5/8-11 80 GRIT
FLAP DISC 4-1/2 X 7/8 36 GRIT
FLAP DISC 4-1/2 X 7/8 60 GRIT
FLAP DISC 4-1/2 X 7/8 80 GRIT
FLAP DISC 4-1/2 X 7/8 36 GRIT
FLAP DISC 4-1/2 X 5/8-11 60 GRIT
FLAP DISC 4-1/2 X 5/8-11 80 GRIT
FLAP DISC 4-1/2 X 7/8 36 GRIT
FLAP DISC 4-1/2 X 7/8 60 GRIT
FLAP DISC 4-1/2 X 7/8 80 GRIT

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

22



ilwosks*
= JAM-FREE
PERFORMANCE

2X s

FASTER
WITH RAPID STRIKE™ TIP.
up TO

4x LIFE

UP TO
0,

()
MORE HOLES
PER CHARGE

omrmzED ron
CORDLESS DRILLS
[ IN HIGH SPEED"

product# | Doscriptn | GTY | | Product# | Descriptin | arY |

48-89-9201 STEPBIT#11/8"-1/2"
48-89-9202 STEP BIT#23/16" -1/2"
48-89-9203 STEP BIT#3 1/4"-3/4"
48-89-9204 STEPBIT#4 3/16"-7/8"
48-89-9205 STEPBIT#5 1/4"-1-3/8"
48-89-9206 STEP BIT#6 3/8" & 1/2"
48-89-9207 STEP BIT#7 7/8"
48-89-9208 STEPBIT#81/2" -1"

R R R R R R R R

48-89-9209
48-89-9211
48-89-9212
48-89-9221
48-89-9223
48-89-9224
48-89-9234
48-89-9239

STEPBIT#97/8" & 1-1/8"
STEP BIT#117/8" -1-7/32"
STEP BIT#12 7/8" -1-3/8"
STEP BIT3PC SET (#1, #2, #4)
STEP BIT 4PC SET (#1, #4, #7, #12)
STEP BIT 6pc SET (#1, #4, #6, #7, #8, #9)
MILWAUKEE #4 STEP BIT 2 PACK
MILWAUKEE #9 STEP BIT 2 PACK

L O A e = O = N =Y

COBALT DRILL BITS

Product# | Doscriptin | GTY | | Product# | Descriptin | arv |

48-89-2301  MILWAUKEE1/16" COBALT RED HELIX
48-89-2302 = MILWAUKEE5/64" COBALT RED HELIX
48-89-2303 = MILWAUKEE 3/32" COBALT RED HELIX
48-89-2304  MILWAUKEE 7/64" COBALT RED HELIX
48-89-2305 MILWAUKEE 1/8" COBALT RED HELIX

48-89-2306 = MILWAUKEE9/64" COBALT RED HELIX
48-89-2307 = MILWAUKEE5/32" COBALT RED HELIX
48-89-2308 | MILWAUKEE 11/64" COBALT RED HELIX
48-89-2309 = MILWAUKEE3/16" COBALT RED HELIX
48-89-2310 A MILWAUKEE 13/64" COBALT RED HELIX
48-89-2311 = MILWAUKEE 7/32" COBALT RED HELIX
48-89-2312 A MILWAUKEE 15/64" COBALT RED HELIX
48-89-2313 MILWAUKEE 1/4" COBALT RED HELIX

48-89-2314 | MILWAUKEE 17/64" COBALT RED HELIX
48-89-2315 = MILWAUKEE9/32" COBALT RED HELIX

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

48-89-2316
48-89-2317
48-89-2318
48-89-2319
48-89-2320
48-89-2321
48-89-2322
48-89-2323
48-89-2324
48-89-2325
48-89-2326
48-89-2327
48-89-2328
48-89-2329

MILWAUKEE 19/64" COBALT RED HELIX
MILWAUKEE 5/16" COBALT RED HELIX
MILWAUKEE 21/64" COBALT RED HELIX
MILWAUKEE 11/32" COBALT RED HELIX
MILWAUKEE 23/64" COBALT RED HELIX
MILWAUKEE 3/8" COBALT RED HELIX
MILWAUKEE 25/64" COBALT RED HELIX
MILWAUKEE 13/32" COBALT RED HELIX
MILWAUKEE 27/64" COBALT RED HELIX
MILWAUKEE 7/16" COBALT RED HELIX
MILWAUKEE 29/64" COBALT RED HELIX
MILWAUKEE 15/32" COBALT RED HELIX
MILWAUKEE 31/63" COBALT RED HELIX
MILWAUKEE 1/2" COBALT RED HELIX

48-89-2331 MILWAUKEE 15PC COBALT RED HELIX KIT

R R R R R R R R R R R R R R

[
(]

23



48-89-0011
48-89-0012
48-89-1105
48-89-2201
48-89-2202
48-89-2203
48-89-2204
48-89-2205
48-89-2206
48-89-2207
48-89-2208
48-89-2209
48-89-2210
48-89-2211
48-89-2212
48-89-2213

TITANIUM SHOCKWAVE® - HEX DRILL BITS

48-89-4601
48-89-4602
48-89-4603
48-89-4604
48-89-4605
48-89-4606
48-89-4607
48-89-4608
48-89-4609
48-89-4610
48-89-4611
48-89-4612
48-89-4613
48-89-4614
48-89-4615

TITAN

LL BI

[ —— W Y

14pc TIN SET
29pc TIN SET
DRILL TITANIUM SET 20PC
1/16" THUNDERBOLT TiN
5/64" THUNDERBOLT TiN
3/32" THUNDERBOLT TiN
7/64" THUNDERBOLT TiN
1/8" THUNDERBOLT TiN
9/64" THUNDERBOLT TiN
5/32" THUNDERBOLT TiN
11/64" THUNDERBOLT TiN
3/16" THUNDERBOLT TiN
13/64" THUNDERBOLT TiN
7/32" THUNDERBOLT TiN
15/64" THUNDERBOLT TiN
1/4" THUNDERBOLT TiN

1/16" Titanium Shockwave™™
5/64" Titanium Shockwave™
3/32" Titanium Shockwave™
7/64" Titanium Shockwave™
1/8" Titanium Shockwave™
9/64" Titanium Shockwave™
5/32" Titanium Shockwave™
11/64" Titanium Shockwave™
3/16" Titanium Shockwave™
13/64" Titanium Shockwave™
7/32" Titanium Shockwave™
15/64" Titanium Shockwave™
1/4" Titanium Shockwave™
17/64" Titanium Shockwave™
9/32" Titanium Shockwave™

N N
o ©

B R R R R R[R R N N N NN

48-89-2214
48-89-2215
48-89-2216
48-89-2217
48-89-2218
48-89-2219
48-89-2220
48-89-2221
48-89-2222
48-89-2223
48-89-2224
48-89-2225
48-89-2226
48-89-2227
48-89-2228
48-89-2229

S

R R R R R R|[R R R R N NN NN

48-89-4616
48-89-4617
48-89-4618
48-89-4619
48-89-4620
48-89-4621
48-89-4622
48-89-4623
48-89-4624
48-89-4625
48-89-4627
48-89-4629
48-89-4630
48-89-4631
48-89-4632

17/64" THUNDERBOLTTiN
9/32" THUNDERBOLT TiN
19/64" THUNDERBOLT TiN
5/16" THUNDERBOLT TiN
21/64" THUNDERBOLT TiN
11/32" THUNDERBOLT TiN
23/64" THUNDERBOLT TiN
3/8" THUNDERBOLT TiN
25/64" THUNDERBOLT TiN
13/32" THUNDERBOLT TiN
27/64" THUNDERBOLT TiN
7/16" THUNDERBOLT TiN
29/64" THUNDERBOLT TiN
15/32" THUNDERBOLT TiN
31/64" THUNDERBOLT TiN
1/2" THUNDERBOLT TiN

19/64" Titanium Shockwave™
5/16" Titanium Shockwave™
21/64" Titanium Shockwave™
11/32" Titanium Shockwave™
23/64" Titanium Shockwave™
3/8" Titanium Shockwave™
25/64" Titanium Shockwave™
13/32" Titanium Shockwave™
27/64" Titanium Shockwave™
7/16" Titanium Shockwave™
15/32" Titanium Shockwave™
1/2" Titanium Shockwave™
Kit 15 PC TiN Shockwave™
Kit 23 PC TiN Shockwave™
Kit 29 PC TiN Shockwave™

RR R R R R R R R R R R R R R R

R R R R R R R R R(R R R

N N =
o w u

24



48-89-2710
48-89-2711
48-89-2712
48-89-2713
48-89-2714
48-89-2715
48-89-2716
48-89-2717
48-89-2718
48-89-2719

48-89-2801
48-89-2802
48-89-2803
48-89-2820
48-89-2821
48-89-2822
48-89-2823
48-89-2824
48-89-2825
48-89-2826
48-89-2827

S&D BLACK OXIDE DRILL BITS

48-89-2739
48-89-2740
48-89-2741
48-89-2742
48-89-2743
48-89-2744
48-89-2745

1/16"
5/64"
3/32"
7/64"
1/8"
9/64"
5/32"
11/64"
3/16"
13/64"

21pc
29pc
15pc
1/16"
5/64"
3/32"
7/64"
1/8"
9/64"
5/32"
11/64"

17/32"
9/16"
19/32"
5/8"
21/32"
11/16"
23/32"

B R R RPN N N NN

THUNDERBOLT BLACK OXIDE DRILL BITS KITS & BULK

R R R R R R R

THUNDERBOLT BLACK OXIDE DRILL BI

48-89-2720
48-89-2721
48-89-2722
48-89-2723
48-89-2724
48-89-2725
48-89-2726
48-89-2727
48-89-2728
48-89-2729

48-89-2828
48-89-2829
48-89-2830
48-89-2831
48-89-2832
48-89-2833
48-89-2834
48-89-2835
48-89-2836
48-89-2837
48-89-2838

7/32"
15/64"
1/4"
17/64"
9/32"
19/64"
5/16"
21/64"
11/32"
23/64"

3/16"
13/64"
7/32"
15/64"
1/4"
17/64"
9/32"
19/64"
5/16"
21/64"
11/32"

R R R R R R R R RR

12

a o o o o o

48-89-2730
48-89-2731
48-89-2732
48-89-2733
48-89-2734
48-89-2735
48-89-2736
48-89-2737
48-89-2738

48-89-2839
48-89-2840
48-89-2841
48-89-2842
48-89-2843
48-89-2844
48-89-2845
48-89-2846
48-89-2847
48-89-2848

48-89-2746
48-89-2747
48-89-2748
48-89-2749
48-89-2750
48-89-2751
48-89-2752

3/4"
25/32"
13/16"
27/32"
7/8"
29/32"
15/16"

R R R R R R R

48-89-2753
48-89-2754
48-89-2755
48-89-2756
48-89-2757
48-89-2758

3/8"
25/64"
13/32"
27/64"
7/16"
29/64"
15/32"
31/64"
1/2"

23/64"
3/8"
25/64"
13/32"
27/64"
7/16"
29/64"
15/32"
31/64"
1/2"

31/32"
1"
1-1/16"
1-1/8"
1-3/16"
1-1/4"

R R R R R R R R R

6
6
6
6
6
6
6
6
6
6

R R R R R R

25



SHIP AUGER BITS

Product Quantit Product e Product PuE L
uanti uanti uanti
Number v Number v Number ¥

3/8"x6" 48-13-0373 1 1-1/4" x6" 48-13-1253 1 3/4"x18" 48-13-5750 1
1/2"x6" 48-13-0503 1 1-3/8"x6" 48-13-1373 1 13/16" x 18" 48-13-5810 1
5/8"x6" 48-13-0623 1 1-1/2" x6" 48-13-1503 1 7/8"x18" 48-13-5870 1
11/16" x6" 48-13-0683 1 (1/2",3/4",1") x18" | 48-13-3000 1 15/16" x 18" 48-13-5930 1
3/4" x6" 48-13-0753 1 3/8"x18" 48-13-5500 1 1"x18" 48-13-6000 1
13/16" x6" 48-13-0813 1 7/16"x 18" 48-13-5520 1 1-1/16" x 18" 48-13-6010 1
7/8" x6" 48-13-0873 1 1/2"x18" 48-13-5540 1 1-1/8"x18" 48-13-6120 1
15/16" x6" 48-13-0933 1 9/16" x 18" 48-13-5560 1 1-1/4" x18" 48-13-6250 1
1"x6" 48-13-1003 1 5/8"x18" 48-13-5620 1 1-3/8"x18" 48-13-6370 1
1-1/16" x6" 48-13-1063 1 11/16" x 18" 48-13-5680 1 1-1/2"x18" 48-13-6500 1
1-1/8"x6" 48-13-1123 1

SPUR AUGER BITS

Product X Product X Product X
Number Quantity Number Quantity Number Quantity
1/2"x6-1/2" 48-13-0700 1 1" x6-1/2" 48-13-1000 25 1-1/2"x6-1/2" 48-13-1500 16
5/8"x6-1/2" 48-13-0725 1 1-1/8" x6-1/2" 48-13-1120 25 (1/2,3/4,7/8,1)x6-1/2" 48-13-4000 16
3/4"x6-1/2" 48-13-0750 1 1-1/4" x6-1/2" 48-13-1250 25
7/8"x6-1/2" 48-13-0870 1 1-3/8" x6-1/2" 48-13-1370 25

SPEEDFEED® SELF FEEDING WOOD BITS

Product Quantit Product Quantit Product Quantit
Number e Number ey Number SRRy
1/2X6 48-13-0048 1 7/8X6 48-13-0078 1 (1/2,3/4,7/8,1)x6 48-13-0400 1
5/8X6 48-13-0058 1 1X6 48-13-0088 1 (1/2,5/8,3/4,7/8,1, 1-
48-13-0600 1
3/4X6 48-13-0068 1 1-1/4X6 48-13-0108 1 1/4)x6

26



Product Quantit Product Quantit Product Quantit
Number uantity Number yantity Number yantity

BIT SELFEED 1" 48-25-1002 1 BIT SELFEED 2" 48-25-2002 1 BIT SELFEED 4-1/8" 48-25-4125 1
BITSELFEED 1-1/8" | 48-25-1122 1 BIT SELFEED 2-1/8" 48-25-2122 1 BIT SELFEED 4-5/8" 48-25-4621 1
BIT SELFEED 1-1/4" | 48-25-1252 1 BIT SELFEED 2-1/4" 48-25-2252 1 BITKIT PLUMBERS 49-22-0065 1
BIT SELFEED 1-3/8" | 48-25-1372 1 BIT SELFEED 2-9/16" 48-25-2562 1 BITKITCONTRACTOR 7 BIT| 49-22-0130 1
BIT SELFEED 1-1/2" | 48-25-1502 1 BIT SELFEED 3" 48-25-3001 1 BITKITCONTRACTOR 4 BIT| 49-22-0135 1
BITSELFEED 1-3/4" | 48-25-1752 1 BIT SELFEED 3-5/8" 48-25-3621 1

SWITCHBLADE® SELFEED BITS

Product Quantit Product Quantit Product Quantit
Number uantity Number yantity Number uantity

1-3/8" 48-25-5120 1 2-9/16" 48-25-5150 1 RPLCMTBLADE 2" 48-25-5435 1
1-1/2" 48-25-5125 1 1-3/8,1-1/2,2-1/8,2-9/16 49-22-5100 1 RPLCMTBLADE 2-1/8" | 48-25-5440 1

2" 48-25-5135 1 RPLCMTBLADE 1-3/8" 48-25-5420 1 RPLCMTBLADE 2-1/4" | 48-25-5443 1
2-1/8" 48-25-5140 1 RPLCMTBLADE 1-1/2" 48-25-5425 1 RPLCMTBLADE 2-9/16" | 48-25-5450 1
2-1/4" 48-25-5143 1

FLAT BORING

Product Quantit Product Quantit Product Quantit
an an an
Number g Number S Number A

3/8"X16" 48-27-0170 1 7/16" X6" 48-27-0441 1 15/16" X6" 48-27-0941 1
1/2"X16" 48-27-0175 1 1/2"X6" 48-27-0501 1 1"Xe6" 48-27-1001 1
5/8"X16" 48-27-0180 1 9/16" X 6" 48-27-0561 1 1-1/8"X6" 48-27-1121 1
3/4"X16" 48-27-0185 1 5/8"X6" 48-27-0621 1 1-1/4" X6" 48-27-1251 1
7/8"X16" 48-27-0190 1 11/16" X6" 48-27-0681 1 1-3/8"X6" 48-27-1371 1
1" X16" 48-27-0195 1 3/4"X6" 48-27-0751 1 1-1/2"X6" 48-27-1501 1
1/4"Xe6" 48-27-0251 1 13/16" X 6" 48-27-0811 1 (3/8"-1") 49-22-0071 1
5/16" X 6" 48-27-0311 1 7/8"X6" 48-27-0871 1 (3/8"-1-1/8") 49-22-0175 1
3/8"X6" 48-27-0371 1

27



SHOCKWAVE IMPACT DUTY™ ACCESSORIES

-:i. ENGINEERED SHOCKWCAVE O UpTo
- IMPACT DUTY 10X

FORGED TIP

Life

BIT TIP HOLDERS

48-32-4502 BIT TIP HOLDER MAG 2.36" 48-32-4509 3" MAGNETIC DRIVE GUIDE 10
48-32-4504 BIT TIP HOLDER MAG 2.36" 10 48-32-4511 BIT TIP HOLDER MAG 6" 1
48-32-4503 BIT TIP HOLDER MAG 3" 1 48-32-4521 BIT TIP HOLDER MAG 6" 10
48-32-4505 BIT TIP HOLDER MAG 3" 10 48-32-4512 BIT TIP HOLDER MAG 12" 1
48-32-4803 BIT TIP HOLDER MAG 3" 250 48-32-4522 BIT TIP HOLDER MAG 12" 10
48-32-4508 3" MAGNETIC DRIVE GUIDE 1

INSERT BITS .

48-32-4411 #1 Phillips Insert Bits 48-32-4423 #3 Square Recess Insert Bits 2
48-32-4661 #1 Phillips Insert Bits 5 48-32-4723 #3 Square Recess Insert Bits 25
48-32-4711 #1 Phillips Insert Bits 25 48-32-4734 T15 Torx® 1" Insert Bits 25
48-32-4880 #1 Phillips Insert Bits 250 48-32-4414 T20 Torx® 1" Insert Bits 2
48-32-4412 #2 Phillips Insert Bits 2 48-32-4735 T20 Torx® 1" Insert Bits 25
48-32-4601 #2 Phillips Insert Bits 5 48-32-4436 T25 Torx® 1" Insert Bits 2
48-32-4712 #2 Phillips Insert Bits 25 48-32-4736 T25 Torx® 1" Insert Bits 25
48-32-4881 #2 Phillips Insert Bits 250 48-32-4441 #1 ECX™ 1" Insert Bits 2
48-32-4413 #3 Phillips Insert Bits 2 48-32-4442 #2 ECX™ 1" Insert Bits 2
48-32-4663 #3 Phillips Insert Bits 5 48-32-4715 7/64" SLOTTED INSERT BIT 25
48-32-4713 #3 Phillips Insert Bits 25 48-32-4416 1/8" SLOTTED INSERT BIT 2
48-32-4882 #3 Phillips Insert Bits 250 48-32-4716 1/8" SLOTTED INSERT BIT 25
48-32-4421 #1 Square Recess Insert Bits 2 48-32-4417 3/16" SLOTTED INSERT BIT 2
48-32-4621 #1 Square Recess Insert Bits 5 48-32-4717 3/16" SLOTTED INSERT BIT 25
48-32-4761 #1 Square Recess Insert Bits 25 48-32-4418 1/4" SLOTTED INSERT BIT 2
48-32-4422 #2 Square Recess Insert Bits 2 48-32-4718 1/4" SLOTTED INSERT BIT 25
48-32-4605 #2 Square Recess Insert Bits 5 48-32-4719 9/32" SLOTTED INSERT BIT 25
48-32-4722 #2 Square Recess Insert Bits

‘* =

48-32-4615 7PCTORX 1" INSERT BIT SET 1 48-32-4408 DRIVE AND FASTEN SET 26PC 1

48-32-2301 11PC 30° KNUCKLE™ 1 48-32-4005 DRIVER BIT SET 36PC 1

48-32-4507 12PC DRIVE GUIDE SET 1 48-32-4006 DRILL & DRIVE SET 40PC 1

48-32-4403 DRIVER BIT SET 18PC 1 48-32-4616 9PC HEX 1" INSERT BIT SET 1
1

48-32-4004 DRIVER BIT SET 32PC 28



SHOCKWAVE IMPACT DUTY™ ACCESSORIES

2" BITS

48-32-4461 #1 Phillips 2" Length 48-32-4772 #2 Square Recess 2" Length
48-32-4760 #1 Phillips 2" Length 25 48-32-4473 #3 Square Recess 2" Length
48-32-4462 #2 Phillips 2" Length 1 48-32-4910 #3 Square Recess 2" Length 2
48-32-4602 #2 Phillips 2" Length 5 48-32-4773 #3 Square Recess 2" Length 25
48-32-4762 #2 Phillips 2" Length 25 48-32-4482 T10 Torx® 2" Length 1
48-32-4862 #2 Phillips 2" Length 250 48-32-4782 T10 Torx® 2" Length 25
48-32-4463 #3 Phillips 2" Length 1 48-32-4483 T15 Torx® 2" Length 1
48-32-4763 #3 Phillips 2" Length 25 48-32-4783 T15 Torx® 2" Length 25
48-32-4863 #3 Phillips 2" Length 250 48-32-4484 T20 Torx® 2" Length

48-32-4755 7/64" SLOTTED 2" Length 25 48-32-4984 T20 Torx® 2" Length 2
48-32-4916 1/8" SLOTTED 2" Length 1 48-32-4784 T20 Torx® 2" Length 25
48-32-4756 1/8" SLOTTED 2" Length 25 48-32-4485 T25 Torx® 2" Length

48-32-4919 3/16" SLOTTED 2" Length 1 48-32-4985 T25 Torx® 2" Length 2
48-32-4757 3/16" SLOTTED 2" Length 25 48-32-4685 T25 Torx® 2" Length

48-32-4918 1/4" SLOTTED 2" Length 1 48-32-4785 T25 Torx® 2" Length 25
48-32-4758 1/4" SLOTTED 2" Length 25 48-32-4486 T27 Torx® 2" Length 1
48-32-4759 9/32" SLOTTED 2" Length 25 48-32-4786 T27 Torx® 2" Length 25
48-32-4471 #1 Square Recess 2" Length 1 48-32-4487 T30 Torx® 2" Length

48-32-4771 #1 Square Recess 2" Length 25 48-32-4914 T30 Torx® 2" Length 2
48-32-4472 #2 Square Recess 2" Length 1 48-32-4787 T30 Torx® 2" Length 25
48-32-4606 #2 Square Recess 2" Length 5 48-32-4788 T40 Torx® 2" Length 25

3-1/2" BITS

48-32-4573 #3 Square Recess 3-1/2" 48-32-4795 #2 Square Recess 3-1/2"

48-32-4562 #2 Phillips 3-1/2" Length 1 48-32-4796 #3 Square Recess 3-1/2" 25
48-32-4564 #2 Phillips 3-1/2" Length 5 48-32-4594 T15 Torx® 3-1/2" Length 25
48-32-4791 #2 Phillips 3-1/2" Length 25 48-32-4595 T20 Torx® 3-1/2" Length 25
48-32-4563 #3 Phillips 3-1/2" Length 1 48-32-4561 T25 Torx® 3-1/2" Length 1
48-32-4792 #3 Phillips 3-1/2" Length 25 48-32-4596 T25 Torx® 3-1/2" Length 25
48-32-4794 #1 Square Recess 3-1/2" 25 48-32-4597 T27 Torx® 3-1/2" Length 25
48-32-4572 #2 Square Recess 3-1/2" 1 48-32-4598 T30 Torx® 3-1/2" Length 25

6" BITS

48-32-4802 #2 Phillips 6" Length 48-32-4815 #2 Square Recess 6" Length
48-32-4807 #2 Phillips 6" Length 10 48-32-4816 #3 Square Recess 6" Length 10
48-32-4808 #3 Phillips 6" Length 10 48-32-4846 T25 Torx® 6" Length 10
48-32-4805 #2 Square Recess 6" Length 1

29



Insert Magnetic Nut Driver Set (1/4",

49-66-4563

49-66-4512
49-66-4712
49-66-4513

49-66-4713

49-66-4515

49-66-4715
49-66-4516
49-66-4716
49-66-4517
49-66-4717
49-66-4502
49-66-4522
49-66-4702
49-66-4503
49-66-4523
49-66-4703
49-66-4505
49-66-4525

SHOCKWAVE IMPACT DUTY™ DEEP WELL SOCKETS

49-66-4419

49-66-4422
49-66-4424
49-66-4425
49-66-4426
49-66-4427
49-66-4428
49-66-4429
49-66-4430
49-66-4431
49-66-4432

49-66-4484

49-66-4461

49-66-4462

49-66-4463

49-66-4464
49-66-4465

SHOCKWAVE IMPACT DUTY™ NUT DRIVERS

5/16",3/8",7/16",1/2")
1/4" Insert Magnetic Nut Driver
1/4" Insert Magnetic Nut Driver
5/16" Insert Magnetic Nut Driver

5/16" Insert Magnetic Nut Driver

3/8" Insert Magnetic Nut Driver

3/8" Insert Magnetic Nut Driver
7/16" Insert Magnetic Nut Driver
7/16" Insert Magnetic Nut Driver

1/2" Insert Magnetic Nut Driver

1/2" Insert Magnetic Nut Driver

1/4" X 1-7/8" Magnetic Nut Driver
1/4" X 1-7/8" Magnetic Nut Driver
1/4" X 1-7/8" Magnetic Nut Driver
5/16" X 1-7/8" Magnetic Nut Driver
5/16" X 1-7/8" Magnetic Nut Driver
5/16" X 1-7/8" Magnetic Nut Driver
3/8" X 1-7/8" Magnetic Nut Driver
3/8" X 1-7/8" Magnetic Nut Driver

8 pc. 3/8" Socket Set (5/16, 3/8, 7/16,
1/2,9/16,5/8,11/16,3/4)

5/16" X 3/8" Impact Socket
3/8" X 3/8" Impact Socket
7/16" X 3/8" Impact Socket
1/2" X 3/8" Impact Socket
9/16" X 3/8" Impact Socket
5/8" X 3/8" Impact Socket
11/16" X 3/8" Impact Socket
3/4" X 3/8" Impact Socket
13/16" X 3/8" Impact Socket
7/8" X 3/8" Impact Socket

9 pc. 1/2" Socket Set (3/8, 7/16, 1/2,
9/16,5/8,11/16,3/4,7/8,1/4 Hex to
1/2" socket adaptor)

3/8" X 1/2" Impact Socket
7/16" X 1/2" Impact Socket

1/2" X 1/2" Impact Socket

9/16" X 1/2" Impact Socket
5/8" X 1/2" Impact Socket

1

3
10
3

10

10

10

10

10

w =

10

R OR R R R R R R R R

49-66-4705

49-66-4506
49-66-4526
49-66-4706

49-66-4561

49-66-4562

49-66-4532
49-66-4732
49-66-4832
49-66-4533
49-66-4733
49-66-4833
49-66-4535
49-66-4735
49-66-4835
49-66-4536
49-66-4736
49-66-4537
49-66-4737

49-66-4466

49-66-4467
49-66-4468
49-66-4469
49-66-4471
49-66-4472
49-66-4473
49-66-4475
48-32-5030
48-32-5730
48-32-5031

48-32-5731

48-32-5032

48-32-5732

48-32-5033

48-03-4405
48-03-4410

3/8" X 1-7/8" Magnetic Nut Driver

7/16" X 1-7/8" Magnetic Nut Driver
7/16" X 1-7/8" Magnetic Nut Driver
7/16" X 1-7/8" Magnetic Nut Driver

1-7/8" MAG NUTDRVR SET (1/4",
5/16",3/8")
1-7/8" MAG NUTDRVR SET (1/4",

5/16",3/8",7/16")
1/4" X 2-9/16" Magnetic Nut Driver
1/4" X 2-9/16" Magnetic Nut Driver
1/4" X 2-9/16" Magnetic Nut Driver
5/16" X 2-9/16" Magnetic Nut Driver
5/16" X 2-9/16" Magnetic Nut Driver
5/16" X 2-9/16" Magnetic Nut Driver
3/8" X 2-9/16" Magnetic Nut Driver
3/8" X 2-9/16" Magnetic Nut Driver
3/8" X 2-9/16" Magnetic Nut Driver
7/16" X 2-9/16" Magnetic Nut Driver
7/16" X 2-9/16" Magnetic Nut Driver
1/2" X 2-9/16" Magnetic Nut Driver
1/2" X 2-9/16" Magnetic Nut Driver

11/16" X 1/2" Impact Socket

3/4" X 1/2" Impact Socket
13/16" X 1/2" Impact Socket
7/8" X 1/2" Impact Socket
1" X 1/2" Impact Socket
1-1/16" X 1/2" Impact Socket
1-1/8" X 1/2" Impact Socket
1-1/4" X 1/2" Impact Socket
1/4" HEX SHANK TO 1/4" SOCKET ADPTR
1/4" HEX SHANK TO 1/4" SOCKET ADPTR
1/4" HEX SHANK TO 3/8" SOCKET ADPTR

1/4" HEX SHANK TO 3/8" SOCKET ADPTR

1/4" HEX SHANK TO 1/2" SOCKET ADPTR

1/4" HEX SHANK TO 1/2" SOCKET ADPTR
1/4" HEX SHANK SCKT ADPTR SET (1/4",
3/8",1/2")

1/4" HEX ADAPTER SQ 3/8"

1/4" HEX ADAPTER 5Q 1/2"

10

1
3
10

10
250

250

R R R R R R R R

[=Y
= o

10

10

30



PRESS JAWS

m12

---

49-16-2450 M12™ 1/2 IN JAW 49-16-2650 M18™ 1/2" JAW 49-16-2658 M18™ 4" RING
49-16-2451 M12™ 3/4 IN JAW 1 | 49-16-2650S M18™ SS 1/2" JAW 1 49-16-2659 M18™ RING JAW 1
49-16-2452 M12™ 1 IN JAW 1 | 49-16-2651 M18™ 3/4" JAW 1 49-16-26595 M18™ SS RING JAW 1
49-16-2453 M12™ 1-1/4 IN JAW 1 49-16-2651S M18™ S 3/4" JAW 1 49-16-2600 "ORCE L°1(/5'2c 4,',’ i:sTss RING2
o FORCE LOGIC™ SS PRESS
49-16-2652 M18™ 1" JAW 1 49-16-2691 RING 11/2"- 2" KIT 1
e M18™ 1/2" BLACK IRON
49-16-2652S M18™ SS 1" JAW 1 49-16-26508 PRESS JAW 1
- " M18™ 3/4" BLACK IRON
49-16-2653 M18™ 1-1/4" JAW 1 | 49-16-2651B PRESS JAW 1
49-16-2654 M18™ 1-1/2" JAW 1 49-16-26528 M18™1 BLS\C‘I'C'RON PRESS 4
- . M18 ™ 1-1/4" BLACK IRON
49-16-2654S M18™ S 1-1/2" JAW 1 | 49-16-2653B PRESS JAW 1
. M18 ™ 1-1/2" BLACK IRON
49-16-2655 M18™ 2" JAW 1 | 49-16-2654B PRESS JAW 1
49-16-2655S M18™ SS 2" JAW 1 49-16-26558 M18™2 Blﬁ&'\(, IRONPRESS
- . M18 ™ 1/2"- 1" BLACK IRON
49-16-2656 M18™ 2-1/2" RING 1 49-16-2696 PRESS JAW KIT 1
o M18 ™ 1/2" - 2" BLACK IRON
49-16-2657 M18™ 3" RING 1 49-16-2697 PRESS JAW KIT 1

18 FORCE LOGI KNOCKOUT PUNCH & DIES

.

49-16-2692 1/2"TO1-1/4" KNOCKOUTSET 1  49-16-2660 1/2" DIE 49-16-2669 1-1/2" PUNCH
49-16-2693  1/2"TO2"KNOCKOUTSET = 1  49-16-2661 1/2" PUNCH 1 49-16-2670 2" DIE 1
1/2" TO 2" HAND RATCHET . .

49-16-2694 KNOCKOUT SET 1 | 49-16-2660S  1/2" DIE STAINLESS STEEL 1 | 49-16-2671 2" PUNCH 1
49-16-2695  2-1/2"TO4" KNOCKOUTSET 1  49-16-2661S 1/2" PUNCHSTAINLESSSTEEL 1 = 49-16-2672 2-1/2" DIE 1
49-16-2684 LARGE DIE REDUCER 1 49-16-2662 3/4" DIE 1 49-16-2673 2-1/2" PUNCH 1
49-16-2685 DIE SPACER 1 49-16-2663 3/4" PUNCH 1 | 49-16-2674 3" DIE 1
49-16-2680 7/16" DRAW STUD 1 49-16-2664 1" DIE 1 49-16-2675 3" PUNCH 1
49-16-2681 3/4" DRAW STUD 1 49-16-2665 1" PUNCH 1 49-16-2676 3-1/2" DIE 1
49-16-2682 1-1/8" DRAW STUD 1 49-16-2666 1-1/4" DIE 1 49-16-2677 3-1/2" PUNCH 1
as-162621 /8 BAL 2:32'"6 DRAW 3 49.16-2667 1-1/4" PUNCH 1 49-16-2678 4" DIE 1
a9-162622 /4" BALL ':?3:;'"6 DRAW 3 49.16-2668 1-1/2" DIE 1 49-16-2679 4" PUNCH 1

31



M18 FORCE LOGIC™ CRIMPER & CUTTER JAWS

P .

I e A S

49-16-BGD3 6T FIXED BG CRIMPINGJAW  1.00  49.16-KEAR 6T KEARNEY CRIMPING JAW 49-16-2773 M18 ACSRJAW
) M18 CU/AL REPLACEMENT
49-16-00D3 6T FIXEDO CRIMPING JAwW 00 49-16-U000 600 MCM Crimper Jaw 1 4g-4as-0a11 BLADE !
6T SNUB-NOSE CRIMPING 100 L M18 ACSR REPLACEMENT )
49-16-00D3 JAW 00 49.16-2772 m18CU/ALIAW 48-44-0412 BLADE

M18 FORCE LOGIC™ CRIMPER DIES

p—
S p— 7y
m __/?
}\ ‘\ )
v @

--

49-16-WBGO W STYLE DIE: W-BG 49-16-U008 #8 Aluminum U Style Die 49-16-U001C #1 Copper U Style Die

49-16-WO00 W STYLE DIE: W-0 1 49-16-U006 #6 Aluminum U Style Die 1  49-16-UO1AC 1/0 Copper U Style Die 1
49-16-WC00 W STYLE DIE: W-C 1 49-16-U004 #4 Aluminum U Style Die 1  49-16-U02AC 2/0 Copper U Style Die 1
49-16-W840 |W STYLE DIE: W-K840 1 49-16-U002 #2 Aluminum U Style Die 1 | 49-16-U03AC 3/0 Copper U Style Die 1
49-16-W161 |W STYLE DIE: W-161 1 49-16-U001 #1 Aluminum U Style Die 1  49-16-UO4AC 4/0 Copper U Style Die 1
49-16-W162 W STYLE DIE: W-162 1 49-16-U01A 1/0 Aluminum U Style Die 1 49-16-U250C 250 MCM Copper U Style Die 1

49-16-W163 W STYLE DIE: W-163 1 49-16-U02A 2/0 Aluminum U Style Die 1 49-16-U300C 300 MCM Copper U Style Die, 1

49-16-W165 W STYLE DIE: W-165 1 49-16-U03A 3/0 Aluminum U Style Die 1 49-16-U350C 350 MCM Copper U Style Die 1
49-16-W166 W STYLE DIE: W-166 1 49-16-UO4A 4/0 Aluminum U Style Die 1 49-16-U400C 400 MCM Copper U Style Die 1

250 MCM Aluminum U Style
49-16-W243 W STYLE DIE: W-243 1 | 45-16-U250 Die
300 MCM Aluminum U Style

1 49-16-U500C 500 MCM Copper U Style Die, 1

1 49-16-U300 1 49-16-U600C 600 MCM Copper U Style Die. 1

49-16-W247 W STYLE DIE: W-247 Die
49-16-W249 W STYLE DIE: W-249 1 asagusso 0NN Aull)ri:inum ustvle 1 asaekmA PO 3505&? D?elukr;inum !
29-16-W164 W STYLE DIE: W-164 1 49-16-U00BC #8 Copper U Style Die 1 agaekmc *8-O0OMCH CopperU style 4
4916 W237 hW STYLE DIE: W-237 1 49-16-U006C  #6 Copper U Style Die 1 agaecase  CAseforissetsofusyle
49-16-W239 'W STYLE DIE: W-239 1 49-16-U004C #4 Copper U Style Die 1

1 49-16-U002C #2 Copper U Style Die 1

49-16-TREE W DIE TREE

32



it

Nothing but HEAVY DUTY.’




